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Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Mental Ability

Section Id : 503890201

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 503890241

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5038905735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter cluster in the series.

CEG, ILO, QUY, ?
Options :
1. ¥ AFK
2. # GFD
3. ®¥ AED
4. % GPJ

Question Number : 1 Question Id : 5038905735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

f3u 7 fasedl & 4, 907 & i 31&R JUg B J1d DY |

CEG, ILO, QUY, ?
Options :
1. ¥ AFK
2. % GFD
3. % AED
4. % GPJ

Question Number : 2 Question Id : 5038905736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter in the series.

N,R,PT.R,V, T, ?
Options :

1. % P

2. % W

3. %V

4. ¥ X

Question Number : 2 Question Id : 5038905736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu e fawedl & 4, 9ot & I 31&R BI 1d B |

N,R,PT,R,V,T,?
Options :

1.% P

2. % W

3. %V
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4. ¥ X

Question Number : 3 Question Id : 5038905737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the option that is unrelated (or odd one out amongst) the given set of letters.
Options :

1. ¥ BEHK

2. % RUXA

3.91KNQ

4. % DGJM

Question Number : 3 Question Id : 5038905737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ag fased g ot fau 71U S1eRt & I ¥ @1 379 I favm) Wefda =8t 82
Options :

1. ¥ BEHK

2. % RUXA

3.Y1KNQ

4. % DGJM

Question Number : 4 Question Id : 5038905738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the words share the same relationship as that shared by the given pair of words.

Eye : Glaucoma
Options :

1. ¢ Joints : Arthritis
2. % Ear: Sound

3. # Protein : Pimple
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4. % Nose : Nerve

Question Number : 4 Question Id : 5038905738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fasred o1 999 &, Foraw wrect &1 3o # 9l Taiy g, St Taey - AU T4 e & Weal & S 7
- Aifeafae

Options :

1. ¢ SIS : ifgan
2. % B @
3. % O Gt
4. % 91 ; dHAPT

Question Number : 5 Question Id : 5038905739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

SGDP : PDSG : : WCXI : ?
Options :

1. # [XCW

2. ¥ IXWC

3. % XCWI

4. ® TWXC

Question Number : 5 Question Id : 5038905739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafefad uea |, fou v el 7 J J6fia 3iert &1 9= &

SGDP : PDSG : : WCXI : ?
Options :
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1. ¥ IXCW
2w IXWC

3. % XCWI
4. % TWXC

Question Number : 6 Question Id : 5038905740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, 'SAPHIR' is written as ' QBTSJI'. How will 'CHIRAG' be written as in that language?
Options :

1. # JIMKBS

2. % SBDUFQ

3. % JIDHBS

4. ¥ SBDVFR

Question Number : 6 Question Id : 5038905740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foref} A8 e U1 &, 'SAPHIR' 1 'QBTSJT' foRaT ST § | 3 HINT H 'CHIRAG' 1 & foraT Saem?
Options :

1. % JIMKBS

2. % SBDUFQ

3. ¥ JIDHBS

4. % SBDVFR

Question Number : 7 Question Id : 5038905741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some boys are sitting in a row. P is sitting 14th from the left and Q is 7th from the right. If there are 4 boys between P and Q. How many
maximum number of boys can be there in the row?

Options :
1. ¥ 25
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2. %23
3 % 0]

4. % 19

Question Number : 7 Question Id : 5038905741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PO TSP TP URI H IS T P AU 143 RIM IR BT 3R Q T 78 M W 3121 TS P 3R Q & o9 4 T8 96 &1 Ui o
3fpdH fhd dSP Bl Thd 82

Options :

1. ¥ 25

2. %23

3. % 21

4. % 19

Question Number : 8 Question Id : 5038905742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It is known that, "A is son of G but G is not father of A. P is the son of D's only child and D has two grand-sons, one of whom is A. How is P
related to A?

Options :

1. ¥ Brother

2. ® Uncle

3. ® Father

4. % Father in law

Question Number : 8 Question Id : 5038905742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Te AR P, "A, GBI TS Qb1 G, A BT UM TS &1 P, D Bl Shalt A BT YA€ 3R D & &l Gla/A €, SR T UF A g1 P, A T ford
THR efdd g2
Options :
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Question Number : 9 Question Id : 5038905743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:

All players are cricketers.

No umpire is a player.

Options :

1. # Some cricketers are umpires
2. ® All umpires are cricketers
3. ® All Player are umpires

4. ¥ Some cricketers are Player

Question Number : 9 Question Id : 5038905743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fefeumuuy 8§ Y oy & dc fawel & IR Fsps AU MU €1 U] fou U Sy=i o) I AT 8, Hal 81 3 Jdwrd at & firer g
gid g1 1 it sl ol ufgu fisR o sifort o fau e sl & § o1 1 dhaiTd $U § 38R0 HR1 ©, 18 JaqTd 9 $§ Hi &l

HhY:

gt faarel, fbped B
Dl AUNR, IS 781 B
Options :

1. % P fhbex, SUMR &
2. % it SURR, fhber &
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3. % guft Fearel, SR §

o~ N i .
4w g—;co Fa 2Ye sYal M Vs P3 V) ?’
+ S LS e i

Question Number : 10 Question Id : 5038905744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below are given two statements followed by two conclusions numbered I and II. You have to take the two given statements to be
true even if they seem to be at variance with the commonly known facts and then decide which of the given conclusions logically follows from
the two given statements, disregarding commonly known facts.

Statements:
All CPU are monitor.
Some UPS are monitor.

Conclusions:
I. Some CPU are UPS.
II. Some UPS are CPU.

Options :

1. # If Only conclusion I follows

2. # If Only conclusion II follows

3. # If either conclusion I or II follows

4. ¥ If neither conclusion I nor II follows

Question Number : 10 Question Id : 5038905744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F fau U vy H & U 3R 39 d1G & FmY 1 3R 11 AU U § | 3ueh! AT TN w1 &1 I A1 § a8 d JaeTd ol § s vl
g &l Hﬁﬁ%ﬁymmmmﬁmwwﬁﬁﬁq-mﬁwmwaﬁwwaﬁﬂawﬁmm%a@
HAATd dY Pped |

hY:

ot St g, AR B
P06 gh.Tg, AR B
fep:
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Lo g, giey. B
Loz gy, didiyg g

Options :

1. % fe Pact sy | 3RV BT R

2. % TfE Had FIsHY 11 SITRUI Rl §

3. % Tfe a1 ar e 1 37 11 SR Rl §

4.« gie T a1 fepe 1 IR A 81 11 SFaR0I HRdT §

Question Number : 11 Question Id : 5038905745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given, relations between different elements are shown in the statements. These statements are followed by two conclusions. Find
out which of the given conclusions follow(s) the given statements and select the correct alternative from the given choices.

Statement:
D>F>G>H>1>]

Conclusions:
I.D>1
ILISF

Options :

1. # Only I follows

2. % Only II follows

3. # Either I or II follows
4. ¥ Both follow

Question Number : 11 Question Id : 5038905745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Uy A, Yy A f3fie 3raudl & o Tdy ol T T 81 HU & 915 &l sy feu 7w g1 fRU U 99 & 3nyR R st &
I B 3R Ifad W B gl
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D>F>G>H>1>]

frpy-
I.D>1
II.LI<F

Options :

1. % PHad I 3FIER0I Rl §

2. % P I1 TRV BT §

3. % IA 1T 11 3IRR0 Bl §
4. G SFIERUT R §

Question Number : 12 Question Id : 5038905746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘A’ stands for ‘+°, ‘B’ stands for ‘-, ‘C’ stands for ‘x’, what is the value of (10C4)A (4C4)B6 ?
Options :

1. ® 46

2.9 50

3. % 56

4. % 60

Question Number : 12 Question Id : 5038905746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfg A &1 3 <+, B> BT 31f <, <0 BT 37 x B, AN (10C4)A(4C4)B6 T HIH T BN 2
Options :

1. % 46

2.¥50

3. % 56

4. % 60
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Question Number : 13 Question Id : 5088905747 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the series given below.

22,24,28,7,52, 84
Options :

1. ® 46

2.¥ 36

3. % 38

4. % 42

Question Number : 13 Question Id : 5038905747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=i <t Tt 9oft § e T [ B

22,24,28,7,52,84
Options :

1. % 46

2.¥ 36

3. % 38

4. % 42

Question Number : 14 Question Id : 5038905748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among:

student, cricketer, basket-baller
Options :

o D
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Question Number : 14 Question Id : 5038905748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

I 3T BT T B3 ol foU 7Y Weg] & &1 I I g2l 6:

BH , fhdbex , TRBeaid s
Options :

1.‘~Yd"”:'(I®
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Question Number : 15 Question Id : 5038905749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following region denotes Indian leaders who are not singers?

Indians

Options :
1.2
2. %3
3. % 4
4. % 5

Question Number : 15 Question Id : 5038905749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

freferied & @ S1H-91 &7 YR Ad1sii &l axiidr g S Tad T8l 82



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Options :
L.¥2

2. %3
3. % 4
4, %5

Question Number : 16 Question Id : 5038905750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From his house, Charan went 15 km to the north. Then he turns west and covered 20 km. Then he turned south and covered 5 km. Finally turning
east, he covered 25 km. In which direction is he from his house?

Options :

1. ® North-West
2. ¥ North-East
3. #® South-East
4. ® South-West

Question Number : 16 Question Id : 5038905750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TROT 3O TR Y 15 fhe TR & SR FaT| R 98 Ui $i 3R TS o1l § 3R 20 T &1 g3l a0 Rl g | b a8 G0 &1 SR g8 Srar
8 3R 5 fprit Bt gt U HRaT 71 3id H qd BT 3R Sd Y, 98 25 [l &l g da dxar 8 1 98 3o R J fpy famm # g2

Options :

|, % ITR-UGH

2. ¥ IW-Jd

3. % GRaurgd

4. % Gf&urufgm

Question Number : 17 Question Id : 5038905751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related figure from the given alternatives.
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2

Options :

e

O

A
A
)

3.

Question Number : 17 Question Id : 5038905751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

o o

O

A
D]

Question Number : 18 Question Id : 5038905752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

3.
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Correct Marks : 1 Wrong Marks : 0.25
Two positions of a cube having different ¢oloured faces is shown below. Which colour is opposite to 'yellow' coloured face, if one of face is

'white'?

blue green

yellow
red

Options :
1. ® Red
2. ® Black
3. ¥ Blue
4. ® White

Question Number : 18 Question Id : 5038905752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s T & s a1d U 94 & <) fRUfoa! o 7 cwifar mar 81 afe ues wae athe 8, Y piH-91 7 Uil 1T P el & fAusid g

Options :
1. % dId
2. % DIl
3. ¢ e
4. % Fbg
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B8905753 Question Type : MCQ Option Shuffling : Yes If

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the number of rectangles in the given figure?

i Question Mandatory : No Option

Note: For this question, discrepancy 1s found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. 16
2. 14
3.15
4.17

Question Number : 19 Question Id : 5038905753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&t siipfa o fa a8

Note: For this question, discrepancy is found in question/answer. So,this
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question 1s 1gnored for all candidates.

Options :
1. 16
2.14
3.15
4.17

Question Number : 20 Question Id : 5038905754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Options :



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247

GET IT ON

Google Play

Question Number : 20 Question Id : 5038905754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HIF T IR ATHA, U 3P & Uiy & I it

Options :

@
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Question Number : 21 Question Id : 5088905755 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following laid the foundation stone of Qutub Minar?
Options :

1. #® Ala-ud-din Khalji

2. ¥ Qutub-ud din Aibak

3. # Shams-ud-Din Iltutmish

4. ® Ghiyasuddin Tughlaq

Question Number : 21 Question Id : 5038905755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied o 9 forem $ga TR &1 SRR 3@t e
Options :

1. ® 3A3e A Raarsit

2. ¥ $JI-3G-¢H UaH

3. % YRY-3G-F gogdiag

4. % TGS D

Question Number : 22 Question Id : 5038905756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the construction of Sri Darbar Sahib completed?
Options :

1. # 1570

2. #1588

3. ¥ 1604

4. % 1669

Question Number : 22 Question Id : 5038905756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
oft xR W1fed ol i forg v & qrijgan Ut

Options :
1. # 1570
2. #1588
3. ¥ 1604
4. % 1669

Question Number : 23 Question Id : 5038905757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On what date did the Constituent Assembly adopted the National Anthem of India?
Options :

1. ¥ 24th January 1950

2. % 15th August 1947

3. % 22nd July 1947

4. ® 26th November 1949

Question Number : 23 Question Id : 5038905757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AU FHT A HR b AP D! fobd dRRG b1 WD fobar
Options :

1. ¥ 24 SFTERT 1950

2. % 15 3T 1947

3. % 22 JATS 1947

4. % 26 daR 1949

Question Number : 24 Question Id : 5038905758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following individuals was known as the founding father of modern economics?
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Options :

2. ® Gary Stanley Becker
3. ¥ Adam Smith
4. ® Milton Friedman

Question Number : 24 Question Id : 5038905758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRad o O ford aafad &1 sneyfer Sid=id & TRiTue fUdT o U 8 ST ST A1
Options :

1. ® S A8 By

2. % T} Welt 9

3. v TS [y

4. % fiee ighA

Question Number : 25 Question Id : 5038905759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Goods and Services Tax (GST) introduced in India?
Options :

1. # September, 2019

2. % Qctober, 2018

3. % September, 2016

4. ¥ July, 2017

Question Number : 25 Question Id : 5038905759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
URd H o Ud I DR (ST d ar] foar 1T 12
Options :
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Question Number : 26 Question Id : 5038905760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following metals are not solid at room temperature?
Options :

1. # Jodine

2. % Lithium

3. ¥ Mercury

4. ¥ Potassium

Question Number : 26 Question Id : 5038905760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffead o ¥ o1 I urg HFR P dIHH R 319 T giat 82
Options :

1. % SIS

2. % foridgm

3. ¢ TH

4. % UreRRrm

Question Number : 27 Question Id : 5038905761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the reflecting surface of a Concave Mirror curved?
Options :

1. # Outwards
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2. % Upwards
3 # Downwards

4. ¥ Inwards

Question Number : 27 Question Id : 5038905761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{add qUUl &1 WRTadd JF Hel GHIGER 8idl 82
Options :

1. % SR P! 3R
2. % S BT 3R
3. % TP 3R
4. ¥ R PR

Question Number : 28 Question Id : 5038905762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was chosen to lead the country during the revolt against the British in 18577
Options :

1. # Chhatrapati Shivaji

2. #® Rani Laxmibai

3. % Tatya Tope

4. % Bahadur Shah

Question Number : 28 Question Id : 5038905762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1857 7 3o & favg fasie & SR S A SF[arft & & fore fosdy gm wram amo

Options :
1. % FIOfd fRramwsit
2. % I deHies
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Question Number : 29 Question Id : 5038905763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did the Quit India Campaign start?
Options :

1. ¥ August, 1942

2. % September, 1943

3. % July, 1941

4. % November, 1945

Question Number : 29 Question Id : 5038905763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA BIS! UM Hd R gaHT UT?
Options :

1. ¢ 3, 1942

2. % RYdeR, 1943

3. % eI, 1941

4. % 9deR, 1945

Question Number : 30 Question Id : 5038905764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who had written 'Harshacharita'?
Options :

1. # Kalidasa

2. ® Harisena

3. % Banabhatta
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4. % Bhavabhuti

Question Number : 30 Question Id : 5038905764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fore g fora 82
Options :

1. % PHIfce™

Question Number : 31 Question Id : 5038905765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What was Panthalassa?

Options :

1. ¥ Mega-Ocean

2. ¥ Mega-continent

3. % Mega-glacier

4. ¥ Mega-mountain

Question Number : 31 Question Id : 5038905765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRITATT T UT?

Options :

1. ¢ {4=Iel HETER

2. % faume-wgTgu

3. % fqrer-figwig

4. % fo=IA-udd
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Question Number : 32 Question Id : S0B8905766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Continents is the smallest continent on Earth?
Options :

1. # Europe

2. % Africa

3. % Antartica

4. ¥ Australia

Question Number : 32 Question Id : 5038905766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad 5 A & 91 HeTEY gl IR Yo BIeT HeTalu 82
Options :

1. % QU

2. % 3{Tbich]

3. % et

4. ¢ ficfern

Question Number : 33 Question Id : 5038905767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many members were initially elected when the Constituent Assembly was constitued?

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.389

2.299

3.250
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4.395

Question Number : 33 Question Id : 5038905767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT GUT & T34 & J0G YRY H fobd T g T4 32

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 389

2.299

3.250

4.395

Question Number : 34 Question Id : 5038905768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the first time Constituent Assembly convened for its first session?
Options :

1. ® 9th April 1947

2. #% 11th December 1946

3. ¥ 9th December 1946

4. ® 15th August 1947

Question Number : 34 Question Id : 5038905768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AU THT & T T & T GUT Ug el IR e galTs T8 A2
Options :

1. % 9 30 1947
2. % 11 faOaR 1946
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3. ¢ 9 fadaR 1946

4 1 I T 1.0 4~
4. 7 10 VIVINNT 1947

Question Number : 35 Question Id : 5038905769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book "The God of Small things"?
Options :

1. ¥ Arundhati Roy

2. # Chetan Bhagat

3. % Salman Rushdie

4. % Vikram Seth

Question Number : 35 Question Id : 5038905769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TS 3 T R Jedd & e dIH 62
Options :

1. ¢ 3Rl T

2. % T W

3. % HoHM F=a

4. % fapH 93

Question Number : 36 Question Id : 5038905770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was Amartya Sen awarded the Nobel Prize for his contributions in the field of Economics?
Options :

1. # 1969

2. % 1979

3. % 1988
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4. 1998

Question Number : 36 Question Id : 5038905770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT T DI IR & & | I ANTGH & [T Add JRIBR B a1 T 1?2
Options :

1. # 1969

2. %1979

3. % 1988

4. ¥ 1998

Question Number : 37 Question Id : 5038905771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following women became the first woman to be appointed as an officer in the Border Roads Organisation (BRO)?
Options :

1. # Shilpa Pratibimba

2. ¥ Vaishali Hiwase

3. # Mithali Raj

4. % Aditi Srivastava

Question Number : 37 Question Id : 5038905771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rroffad 3 3 S5 9 e S Tsw e (eRaN) § uh RimR & &0 3 Fgw 8 ard Ted Bk o
Options :

1. # fRreqr gfafors

2. ¢ ATl fgad

3. % foycreft X1t

4. % 3ffefq farda
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Question Number : 38 Question Id : S0B8905772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Central Mechanical Engineering Research Institute (CMERI) is located in which of the following states?
Options :

1. ¥ West Bengal

2. % Assam

3. % Maharashtra

4. # Karnataka

Question Number : 38 Question Id : 5038905772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yool Hebfeba gul-anT Red s&teye (HunseiRais) Fafeiad § 3 fooq reg 4 fRud 82
Options :

1. ¢ UigH ST

2. % 314y

3. % HERIY

4. % HAlcH

Question Number : 39 Question Id : 5038905773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of the MCC?
Options :

1. # Mobile Cricket Club

2. ¥ Marylebone Cricket Club

3. # Men Cricket Club

4. ® Maryborn Cricket Club

Question Number : 39 Question Id : 5038905773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

TR (MCC) &1 JUf 650 a1 82
Options :

1. % Hiaed fohdre a9

2. ¢ ARG fhore a9

3. % A fpobe FoId

4. % TS fopobe T

Question Number : 40 Question Id : 5038905774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the headquarters of International Cricket Council located?
Options :

1. # London

2. ® Melbourne

3. # Singapore

4. ¥ Dubai

Question Number : 40 Question Id : 5038905774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS fohohe URWE 1 HwATerd HBl [T 82

Options :
1. ® ded
2. % OASH
3. % fHMR
4. ¥ gSs

Arithmetic Ability
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Group Number : 3

Group Id : 50389095
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 503890203
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890243
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5038905775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark (?) in the given expression?

V361 =2-142-17x7
Options :
1. % 320
2. % 234
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3. ¥ 327
4 % 334

Question Number : 41 Question Id : 5038905775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu U o § Uy g (2) & RIF IR T ST

VIl =2 1817 %7
Options :
1. % 320
2. % 234
3. % 327
4.9 334

Question Number : 42 Question Id : 5038905776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the values of a - b in the equation below.

BBy 11053) =443 w 226 » 1]11+b
Options :

1. %0

2. % .6

3. %5

4.¥ 6

Question Number : 42 Question Id : 5038905776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i faU 7T GHIBRUT H a - b T HM J1d HIT|
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2(8/3) % 1105) =443 x 2a/6 x 1111+

Ontions
pHons—

1. %0
2. % -6
3.%5
4.v 6

Question Number : 43 Question Id : 5038905777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two numbers are in the ratio of 11: 14 respectively. If their HCF is 12, then find their sum.
Options :

1. % 150

2. % 180

3.¥ 300

4. % 250

Question Number : 43 Question Id : 5038905777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& HTY HHRT: 11:14 & U | g | AfE AP AgTH THUTY 12 &, <) ST TN J1d B |
Options :

1. % 150

2. % 180

3. % 300

4. % 250

Question Number : 44 Question Id : 5038905778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HCF and LCM of two numbers x and y is 6 and 210 respectively. If x + y = 72, then which of the following relation is correct?
Options :
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Question Number : 44 Question Id : 5038905778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

& =TSt x 3R y 7 HeTH JHIGd® 3R TH THYGY HH: 6 AR 210 81 3fS x +y = 72 81, @ g T @ S1F-91 Taier 9 g2

Options :

Question Number : 45 Question Id : 5038905779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Find the largest fraction of the following fractions.

Options :

14
1. ®¥ 16

18
2. ¢ 19

12

13

4%15

GET IT ON

Google Play

Question Number : 45 Question Id : 5038905779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
fgferfea il o ¥ gad st fia 31d S|
Options :

14
1% 16

18
2.« 19

12

13
4%15
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Question Number : 46 Question Id : 5088905780 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average marks of 29 students are 74 and are increased by 0.6 when marks of Shaurya are added. Find marks obtained by Shaurya.
Options :

1. # 88

2.9 92

3. % 96

4. % 82

Question Number : 46 Question Id : 5038905780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

29 faenffal & ofi e ofch 74 € SR 91d X & il DI oie faan SITaT §, < 0.6 1 3fa: BT Siie & | 21 g1 I 3 1 diford |
Options :

1. % 88

2.¥ 92

3. % 96

4. % 82

Question Number : 47 Question Id : 5038905781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain school, 36 percent of students are below 12 years of age. The number of students above 12 years of age is 2/30f the number of
students of 12 years of age, which is 48. What is the total number of students in the school ?

Options :
1. ¥ 125
2. % 100
3. % 120
4. % 150

Question Number : 47 Question Id : 5038905781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

T AW, 36 URASH 2 TH A FAST S ¢ 1 12 T8 Y e 3T & B! B AT, 12 T8 & SHI &1 U BT 2/3 §, O [ 48 51 T
A pd S B G fha 82

Options :

1. ¥ 125

2. % 100

3. % 120

4. % 150

Question Number : 48 Question Id : 5038905782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A number is first decreased by 10 percent and then increased by 10 percent. The number so obtained is 30 less than the original number. Find the
original number.

Options :
1. % 2700
2. % 3000
3. % 3300
4. % 3600

Question Number : 48 Question Id : 5038905782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS AT &1 Ugd 10 UiA=Id TerT Sifdl § 3R iR 10 Tia=Id S Sl § | UTed I¥eAT, Jol e § 30 61 ¢ | Jel S J1d Pifoig |
Options :

1. # 2700

2. ¥ 3000

3. % 3300

4. % 3600

Question Number : 49 Question Id : 5038905783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : (.25

Madhav bought a second-hand printer and sold it to Kavendra for Rs. 2160 thereby making a profit of 20 percent. At what price Madhav must
sell the printer to earn a profit of 40 percent?

Options :

1. # Rs.2240
2. ¥ Rs.2520
3. ¥ Rs.2740
4. % Rs.2880

Question Number : 49 Question Id : 5038905783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTYd 3 T AT fiex WRieT 3R $Hdg &1 2160 T9Y & o foar form 37 20 Ua=rd @ 81dT 81 J1ed &1 40 UfA=id &1 a1y HHH & forg
fliex @I forg S1Hd R I A1l

Options :

1. % 2240 300

2. ¥ 2520 39T

3. % 2740 39U

4. % 2880 3UY

Question Number : 50 Question Id : 5038905784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A wallet has a total amount of Rs.3200 in the form of Rs. 10, Rs.20 and Rs.50 currency notes and the currency notes are in the ratio of 6:9:8
respectively. What is the total number of Rs.10 currency notes?

Options :
1. % 24
2. % 36
3. ¥ 30
4. % 42
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Question Number : 50 Question Id : 5088905784 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ST H 10 ¥, 20 TUY 3R 50 YT & Al & = A Hd 3200 T0T g G0 fF 10 3T, 20 FYF 3R 50 TGY & A BT 30T HH:
6:9:8 51 10 TGY &b I P Hol YT AT BT |

Options :

1. % 24

2. % 36

3.4 30

4.% 42

Question Number : 51 Question Id : 5038905785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of present ages of father and his son is 57 years. 6 years ago, the father was 4 times as old as his son at that time. The present age of son
is:

Options :

1. #® 24 years
2. % 20 years
3. # 21 years
4. ¥ 15 years

Question Number : 51 Question Id : 5038905785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS U SR P ¢ ! acHH 39 H1 AT 57 T4 81 6 T8 Ugd, fdl 39 THT 30 9¢ B 3Y BT 4 THT UT| 9 DT IaHH 39 F1 52
Options :

1. % 2499

2. % 207Y

3.% 219y

4. ¢ 159
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Question Number : 52 Question Id : 5088905786 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What sum lent El.t—’l% percent per annum will produce as much simple interest
in 3.5 years as Rs 630 lent at 3.75 percent per annum in 2.5 years?
Options :

1. ¥ Rs.375

2. % Rs.385

3. % Rs.390

4. ¥ Rs.405

Question Number : 52 Question Id : 5038905786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁmuﬁrwﬁ%sﬁﬁaﬁaﬁmﬁa.saﬁmwm530@?3':1?3_?5
gfderd 9iday 1 arfiies g & 2.5 aut 3 GrIRoT sATef & s{= 8?2

Options :

1. ¥ 375300
2. % 385909
3. % 390 3qY
4. % 405309

Question Number : 53 Question Id : 5038905787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anil can cover a distance of 5 cm in 4 milliseconds. He travelled for 4 hours. If the speed of Mukesh is 15 km/hr more than Anil, then in how
much time can he cover the distance that Anil covered?

Options :
1. % 25hr
2. % 4hr
3.% 3 hr
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4. ® 2 hr

Question Number : 53 Question Id : 5038905787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 4 RS S # 5 T &1 g8 &) T TR AHhdl &1 ST 4 6 Y AR D1 | Al b= H1 7R, 1A F 15 fheil/eier oifdes 8, 1 a8 faba
TG | A GRT T B T8 11 DI 99 DR Tl 62

Options :

. % 25%¢

2. % 4YC

3. ¢ 3%c¢

4. % 29e

Question Number : 54 Question Id : 5038905788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seema swims 27 km downstream and 15 km upstream, taking 3 hours each time. What is the velocity of current?
Options :

1. # 5 km/hr

2. ¥ 2 km/hr

3. % 3 km/hr

4. ® 4 km/hr

Question Number : 54 Question Id : 5038905788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 4R 1 = & 27 forrt 3R o1 & faukia fa=m 15 fortdt 1 g8 oA B U 9 3 6 &1 J0g T § | 4RI &1 T1fd fobait 82
Options :

1. % 5 fopuitec

2. ¢ 2 fpaiEe

3. % 3 fopaiEe
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4. % 4 fHulEe

Question Number : 55 Question Id : 5038905789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 men can complete a work in 8 days. In how many days 12 men can complete the same work?
Options :

1. #® 9 days

2. ¥ 10 days

3. % 10.5 days

4. % 12 days

Question Number : 55 Question Id : 5038905789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 T3 U HTH &I T B 1 8 a7 &1 T80 T 8, 12 TN 341 B DI IR 3 H v 7 &1 90 amgi
Options :

1. % 9feq

2. ¥ 10 f&A

3. % 105 &

4. % 127

Question Number : 56 Question Id : 5038905790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The area of trapezium is 336 sq.cm. If its parallel sides are in the ratio 5:7 and the perpendicular distance between them be 14 cm, then the
smaller of the parallel sides is:

Options :

1.4 20 cm
2. % 25cm
3. % 18cm
4. % 24 cm
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+5038905790 Question Type : MCQ Option Shuffling : Yes I

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP TS TGS BT &FHd 336 T ASHIER g1 TS ST THFIAR YoI13f &7 SIUTd 5:7 81 3R 37 aIHI Yol3f & ad &1 daad gal 14
e &), O TAMRR Yomsit & T it Yo Hi-3 82

Options :

1. ¢ 20 Q4

2. % 259!

3. % 1390t

4. % 2490

Question Number : 57 Question Id : 5038905791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A hollow cylinder is made up of 1 cm thick metal sheet with outer radius 4 cm. and height 2 cm. Find the volume of metal used.
Options :

1 % 65 cm?
> % 40 cm?
3 % 56 cm?

4.« 44 cm?

Question Number : 57 Question Id : 5038905791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP TIAd S0 &1 a8t A 4 It iR Sars 2 Tt € U 1 It 11t org 2ffe I 591 8 | Ugad YTd &1 Sa- 1d B |

Options :
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Question Number : 58 Question Id : 5038905792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The given pie chart shows the marks scored by a student in different subjects- English, Hindi, Mathematics, Science and History in an

examination.

EEnglish ®@Hindi wMathematics ®Science wHistory

What is the central angle showing the marks in Hindi and Science together?
Options :

| % 186.8°



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

> % 194 4o

3 o 187.20

4 % 198.40

Question Number : 58 Question Id : 5038905792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fear T utg 91d U o gR1 U wien A 3y fawat sitett, i, vftra, fasm ok sfagm & ur fe 7w sicl ot geiar g1

Hidehr MRS Yot Sfaam ¥efaga
f&<t 3R fagm =1 vep T fireien) <A aren St Hor o g2

Options :
| % 186.8°
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5 % 194.4¢

3 o 187.20

4 % 198.4°
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Question Number : 59 Question Id : 5038905793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The given pie chart shows the marks scored by a student in different subjects- English, Hindi, Mathematics, Science and History in an

examination.

EEnglish ®@Hindi sMathematics ®Science ®History

If the marks in Mathematics and History together is 450, then what would be marks in English only?
Options :
1. ¥ 150
2. % 180
3. %175
4, % 145
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: 5038905793 Question Type : MCQ Option Shuffling : Yes I
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T uts a1d Ue BT g1 Uk URien H fafte fawat aiiett, i, nifvra, fagm ok sfaera # urd fu 7w sie! &Y g €|

Hieeh MRS Yamlg ¥eam Ysioew

g T 3R et H U W1 $dl 3 450 8, Al bad SIS # fova i giite
Options :
1. ¥ 150
2. % 180
3. % 175
4. % 145

Question Number : 60 Question Id : 5038905794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following graph shows the number of male and female employees working in five organizations.
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The ratio of number of male employees in the organization Q & S together to the number of female employees in the organization R & T together

is?

Options :
1.¥5:3
2. % 65
3. % 8.7
4. % 9.7

Question Number : 60 Question Id : 5038905794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frofafad ure uie dufal & HRRd 7oV SR Afgen dHenRal & Te & g-dT g |
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Options :
1.¥ 53
2. % 6:5
3. % 8.7
4. % 9.7
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Is this Group for Examiner? : No
General English

Section Id : 503890204

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 503890244

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5038905795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :

1. #® The support of grant assistance was in response with a specific request made by Niger.

2. #® The move notifying by the cabinet secretariat, will now bring issues of conservation, and development.

3. # Issues relating to Ganga and its tributaries is being looked after by the National Mission for Clean Ganga (NMCG).

4. ¥ The environment ministry will, however, continue to have responsibility over issues relating to biodiversity and wetlands.

Question Number : 61 Question Id : 5038905795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

1. #® The support of grant assistance was[in response with a specific request made by Niger.

2% The move notifying by the cabinet decretariat, will now bring issues of conservation, and development
3. # Issues relating to Ganga and its tributaries is being looked after by the National Mission for Clean Ganga (NMCG).

4. ¥ The environment ministry will, however, continue to have responsibility over issues relating to biodiversity and wetlands.

Question Number : 62 Question Id : 5038905796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the segment in the sentence which contains the grammatical error from the given options. If there is no grammatical error(s), then select
No error as option.

The Americans speak different from us though our grammar is the same.
Options :

1. # The Americans speak

2.+ different from us

3. # though our grammar is the same

4. % No error

Question Number : 62 Question Id : 5038905796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the segment in the sentence which contains the grammatical error from the given options. If there is no grammatical error(s), then select
No error as option.

The Americans speak different from us though our grammar is the same.
Options :

1. ® The Americans speak

2. ¥ different from us

3. # though our grammar is the same

4. ® No error

Question Number : 63 Question Id : 5038905797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to subdtitute the underlined segment in the given sentence. If there |s no need to substitute it, select "No

substitution required'.

The crisis can grow far worst as the government battles to reclaim all of Syria.
Options :

1. ¥ more worse

2. % more bad

3. ¥ far worse

4. ® No substitution required

Question Number : 63 Question Id : 5038905797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select 'No
substitution required'.

The crisis can grow far worst as the government battles to reclaim all of Syria.
Options :

1. # more worse

2. % more bad

3. ¥ far worse

4. % No substitution required

Question Number : 64 Question Id : 5038905798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

The 2010-2019 decade was the warmer which India has ever witnessed, since records began in 1901.
Options :

1. # the warmest whom

2. ¥ the warmest that
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3. # the warmest who

4_#% No substitution rPr}nirPd

Question Number : 64 Question Id : 5038905798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

The 2010-2019 decade was the warmer which India has ever witnessed, since records began in 1901.

Options :

1. # the warmest whom
2. ¥ the warmest that

3. # the warmest who

4. % No substitution required

Question Number : 65 Question Id : 5038905799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

A structure this heavy would require an extremely strong foundation to support weight.
Options :

1. ® his

2. % her

3. # their

4. ¢ its

Question Number : 65 Question Id : 5038905799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.
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A structure this heavy would require an ektremely strong foundation to support weight.
Options :

1. ® his
2. % her
3. # their
4. v its

Question Number : 66 Question Id : 5038905800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The Union Health and Family Welfare Ministry has the guidelines that must be kept in mind by all students and teachers while
visiting schools.

Options :

1. ¥ released
2. % admitted
3. # denied
4. % implied

Question Number : 66 Question Id : 5038905800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The Union Health and Family Welfare Ministry has the guidelines that must be kept in mind by all students and teachers while
visiting schools.

Options :

1. ¥ released
2. % admitted
3. % denied
4. % implied
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Question Number : 67 Question Id : 5088905801 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P: This is despite the fact that there is a rampant migration of rural families to urban centres.

Q: Generally the gains of being a unit of the urban population are less than the disadvantages and risks that are inbuilt in the urban life.
R: Rural population still dominates the urban population as far as the number is considered.

S: India is a country of villages.

Options :

1. ¥ SPRQ
2. # RPQS
3. ¥ SRQP
4. ¥ QPRS

Question Number : 67 Question Id : 5038905801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P: This is despite the fact that there is a rampant migration of rural families to urban centres.

Q: Generally the gains of being a unit of the urban population are less than the disadvantages and risks that are inbuilt in the urban life.
R: Rural population still dominates the urban population as far as the number is considered.

S: India is a country of villages.

Options :

1. ¥ SPRQ
2. # RPQS
3. ¥ SRQP
4. ¥ QPRS

Question Number : 68 Question Id : 5038905802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.
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P. With his arms around a pillar in the building, he was handcuffed by Melville, the Superintendent.
Q. Born as Erich Weiss in 1874, this boy from Wisconsin in the United States of America, did not tak¢ long to make the headlines.

R. No Tocks, no chains, no manacles could hold Harry Houdini, the greatest escape artist of all time.
S. His handcuff act became so famous that he was invited to escape from Scotland Yard, the Headquarters of the police department in London
which houses the most famous police force in the world.

Options :

1. ¥ RPQS
2. % QSRP
3. % QPSR
4. ¥ RQSP

Question Number : 68 Question Id : 5038905802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. With his arms around a pillar in the building, he was handcuffed by Melville, the Superintendent.

Q. Born as Erich Weiss in 1874, this boy from Wisconsin in the United States of America, did not take long to make the headlines.

R. No locks, no chains, no manacles could hold Harry Houdini, the greatest escape artist of all time.

S. His handcuff act became so famous that he was invited to escape from Scotland Yard, the Headquarters of the police department in London
which houses the most famous police force in the world.

Options :

1. ¥ RPQS
2. % QSRP
3. % QPSR
4. ¥ RQSP

Question Number : 69 Question Id : 5038905803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

AMBIGUITY
Options :
1. # Intensity
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2. % Violence

o]

S N 1
J. = 1 ULZIV

4. % Despair

Question Number : 69 Question Id : 5038905803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

AMBIGUITY
Options :

1. ® Intensity
2. ® Violence
3. ¥ Puzzle
4. ® Despair

Question Number : 70 Question Id : 5038905804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

BESTIALITY
Options :

1. ® Barbarism
2. % Savagery
3. ¥ Gentleness
4. ® Fight

Question Number : 70 Question Id : 5038905804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.
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BESTIALITY
Options :

1. ¥ Barbarism
2. # Savagery
3. ¥ Gentleness
4. % Fight

Question Number : 71 Question Id : 5038905805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. ¥ Committee

2. % Committe

3. ¥ Commitee

4. ® Comittee

Question Number : 71 Question Id : 5038905805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. ¥ Committee

2. % Committe

3. # Commitee

4. ® Comittee

Question Number : 72 Question Id : 5038905806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.
Options :
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1. ¥ Politycian

2 _# Perseverence

3. #¥ Possession

4. ® Portuguese

Question Number : 72 Question Id : 5038905806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. ¥ Politycian

2. % Perseverence

3. # Possession

4. ® Portuguese

Question Number : 73 Question Id : 5038905807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/phrase.

Blow off steam

Options :

1. # Get very angry

2. # Play a musical instrument out loud
3. % Reveal a hidden secret

4. ¥ Relieve one's pent-up feelings

Question Number : 73 Question Id : 5038905807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/phrase.

Blow off steam
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Options :

1. # Get verv angry

2. # Play a musical instrument out loud
3. # Reveal a hidden secret

4. ¥ Relieve one's pent-up feelings

Question Number : 74 Question Id : 5038905808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

At a snail's pace

Options :

1. ¥ To do things very slowly
2. % To walk like a snail

3. # To lack interest in work

4. ® To do things in a methodical manner

Question Number : 74 Question Id : 5038905808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

At a snail's pace

Options :

1. ¥ To do things very slowly
2. % To walk like a snail

3. # To lack interest in work

4. ® To do things in a methodical manner

Question Number : 75 Question Id : 5038905809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Select the word which means the same as|the group of words given.

StallLa Ul pUUlll Uf fUul 11111Cb
Options :

1. ®¥ Quack

2. % Quadruped

3. #® Quarantine

4. % Quatrain

Question Number : 75 Question Id : 5038905809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

Stanza or poem of four lines
Options :

1. ¥ Quack

2. % Quadruped

3. ¥ Quarantine

4. ¥ Quatrain

Sub-Section Number : 2
Sub-Section Id : 503890245
Question Shuffling Allowed : Yes

Question Id : 5038905810 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

After the death of Julius Caesar, the Roman Empire is ruled by three men: Mark Antony, Octavius Caesar, and Lepidus. Mark Antony commands
the eastern Mediterranean and lives in Egypt. He has also become infatuated with Cleopatra, Queen of Egypt. After the death of his wife, Fulvia,

and the rebellion of Pompey against his fellow ruler Octavius, Antony is forced to leave for Rome. He travels with his friend Enobarbus.

In Rome, Antony and Octavius Caesar argue over the former's escapades in Egypt. They eventually decide that their friendship must be cemented
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by a political marriage between Antony ahd Octavia, Caesar's sister. Enobarbus refuses to believe that| Antony will desert Cleopatra and tells his
Roman friends about the Egyptian court. [The rulers, including Lepidus, make peace with the rebellious Pompey, who entertains them on his ship

in the harbour. During the feast, Pompey refuses to allow his men to murder the triumvirate (Lepidus).

Cleopatra receives the news of Antony's marriage. After a fit of rage and jealousy, she realises that Octavia offers no real romantic challenge.
When Antony and Octavia reach Athens, they learn that Caesar has revoked his peace treaty and attacked Pompey. He also betrayed the
triumvirate agreement by imprisoning Lepidus. Antony sends Octavia back to Rome to try to renew peace.

Antony himself goes on to Egypt to raise an army with Cleopatra. Caesar, disgusted by Antony's abandonment of Octavia, declares war on
Antony and Cleopatra. Despite Enobarbus's advice, Antony decides to fight at sea at Actium. In the battle, Cleopatra's ships flee from the Roman
fleet, and Antony is defeated.

Sub questions

Question Number : 76 Question Id : 5038905811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, the character ‘Fulvia’ has been portrayed as—
Options :

1. #® Lepidus’ wife

2. ¥ Mark Antony’s wife

3. % Enobarbus’ wife

4. % Qctavious’ wife

Question Number : 77 Question Id : 5038905812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why does Mark Antony send Octavia back to Rome?
Options :

1. ¥ to try to renew peace which was forfeited

2. % to accept his defeat against the rebellions

3. # to calm down the Egyptian queen ‘Cleopatra’

4. ® to infuriate Octavious Caesar, ruler of Pompey

Question Number : 78 Question Id : 5038905813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Who according to the given passage, refupes to believe that Antony will desert Cleopatra?

Options :

1. #® Cleopatra
2. % Lepidus
3. ¥ Enobarbus
4. ® Qctavia

Question Number : 79 Question Id : 5038905814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Infatuated”?
Options :

1. #® captivated

2. ® smitten

3. # fascinated

4. ¥ detached

Question Number : 80 Question Id : 5038905815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. # In Rome, Antony and Octavius Caesar argue over the former's escapades in Egypt.

2. % QOctavious Caesar also betrayed the triumvirate agreement by imprisoning Lepidus

3. ¥ After a fit of rage and jealousy, Octavia realises that Cleopatra offers no real romantic challenge.

4. ® Mark Antony himself goes on to Egypt to raise an army with Cleopatra.

Question Id : 5038905810 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.
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After the death of Julius Caesar, the Romgn Empire is ruled by three men: Mark Antony, Octavius Cagsar, and Lepidus. Mark Antony commands
the eastern Mediterranean and lives in Egypt. He has also become infatuated with Cleopatra, Queen of Egypt. After the death of his wife, Fulvia,

and the rebellion of Pompey against his fellow ruler Octavius, Antony is forced to leave for Rome. He travels with his friend Enobarbus.

In Rome, Antony and Octavius Caesar argue over the former's escapades in Egypt. They eventually decide that their friendship must be cemented
by a political marriage between Antony and Octavia, Caesar's sister. Enobarbus refuses to believe that Antony will desert Cleopatra and tells his
Roman friends about the Egyptian court. The rulers, including Lepidus, make peace with the rebellious Pompey, who entertains them on his ship
in the harbour. During the feast, Pompey refuses to allow his men to murder the triumvirate (Lepidus).

Cleopatra receives the news of Antony's marriage. After a fit of rage and jealousy, she realises that Octavia offers no real romantic challenge.
When Antony and Octavia reach Athens, they learn that Caesar has revoked his peace treaty and attacked Pompey. He also betrayed the
triumvirate agreement by imprisoning Lepidus. Antony sends Octavia back to Rome to try to renew peace.

Antony himself goes on to Egypt to raise an army with Cleopatra. Caesar, disgusted by Antony's abandonment of Octavia, declares war on
Antony and Cleopatra. Despite Enobarbus's advice, Antony decides to fight at sea at Actium. In the battle, Cleopatra's ships flee from the Roman
fleet, and Antony is defeated.

Sub questions

Question Number : 76 Question Id : 5038905811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, the character ‘Fulvia’ has been portrayed as—
Options :

1. #® Lepidus’ wife

2. ¥ Mark Antony’s wife

3. % Enobarbus’ wife

4. ¥ Qctavious’ wife

Question Number : 77 Question Id : 5038905812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why does Mark Antony send Octavia back to Rome?
Options :

1. ¥ to try to renew peace which was forfeited

2. % to accept his defeat against the rebellions

3. # to calm down the Egyptian queen ‘Cleopatra’
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4. ® to infuriate Octavious Caesar, ruler pf Pompey

Question Number : 78 Question Id : 5038905813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who according to the given passage, refuses to believe that Antony will desert Cleopatra?
Options :

1. #® Cleopatra

2. % Lepidus

3. ¢ Enobarbus

4. ® QOctavia

Question Number : 79 Question Id : 5038905814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Infatuated”?
Options :

1. ® captivated

2. % smitten

3. % fascinated

4. ¢ detached

Question Number : 80 Question Id : 5038905815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. # In Rome, Antony and Octavius Caesar argue over the former's escapades in Egypt.

2. % QOctavious Caesar also betrayed the triumvirate agreement by imprisoning Lepidus

3. ¢ After a fit of rage and jealousy, Octavia realises that Cleopatra offers no real romantic challenge.

4. ® Mark Antony himself goes on to Egypt to raise an army with Cleopatra.
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Question Number : 81 Question Id : 5038905816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i & @ P19-91 g FHYRY THNY BT IS8T 32

Options :

1. ® &Y
2. ¢ fdRd
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3. % SE
4% 2]

Question Number : 81 Question Id : 5038905816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & ¥ BIH-91 Weg HHURY THN BT 3GTe0I 87
Options :

1. # =Y

2. ¢ faaRd@

3. % TS

4. % gDl

Question Number : 82 Question Id : 5038905817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
eI § & dagd <Teq T 0 BIfSTT-
Options :

1. % Yad

2. % &0

3. % gy

4. Hrdl

Question Number : 82 Question Id : 5038905817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfaRad H T dagd XIeg &1 99 DifoTe-
Options :

1. % Yad

2. % &ul

3. % gy
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4.« A

Question Number : 83 Question Id : 5038905818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfafaa & @ S19-97 Weg Uy &7 UANT 6 ST 471 82
Options :

1. ¢ HIONY

Question Number : 83 Question Id : 5038905818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEfIRad # T 14-97 Xee; U T YT B 11 77 82
Options :

1. ¢ B0

2. % gl

3. ® yg&

4. % gAY

Question Number : 84 Question Id : 5038905819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEferRad # @ o19-971 Xee; SfddTed ST BT I&T80 8! 82
Options :

1. % Q¥

2. % Tdi

3. ¢ feHTer

4. % Ugls
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Question Number : 84 Question Id : S0B8905819 Question Type : MCQ Option Shuffling : Yes IS Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frfRad & @ SH-91 Treg Sfaarad T3 &1 3eTeR0l 76l 82
Options :

1. % Q¥

2. % 7dt

3. ¢ fgare™

4. % UgTS

Question Number : 85 Question Id : 5038905820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R H | HIH-91 Weq "aTael” &1 Yuigdr 82
Options :

1. ¥ pADYl

2. ¥ JAgdIRI

3. % 3O

4, % god

Question Number : 85 Question Id : 5038905820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FefifRad & 9 o IH-31 Wea "grae" 1 wdigars! 82
Options :

1. % BB

2. ¥ ggdIRI

3. % 3O

4, ®# gpd
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Question Number : 86 Question Id : 5088905821 Question Type : MCQ Option Shuffling : Yes I$ Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfRad H T SRRTd/dHT Xeg &1 T DioTu-
Options :

1. % g9

2. % Ul

3. ¢ Hadl

4. % guft

Question Number : 86 Question Id : 5038905821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
freferRad #  SRiTTd/sHd eq BT TG BHifoTe-
Options :

1. % 4

2. ® {uar

3. ¥ TEdl

4. % {ufy

Question Number : 87 Question Id : 5038905822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrefafad & 9 aemERl &1 e e HH-91 82
Options :

1. % QUITAHT

2. % RS

3. % QiiefaH

4.« FIYERY

Question Number : 87 Question Id : 5038905822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frfafad & ¥ Herm &1 fIdm e HH-a1 32
Options :

1. % qugre

2. % giA

3. % XicdH

4. ¢ HIERY

Question Number : 88 Question Id : 5038905823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmfrad & O Weg-gr o e 31d-1g &1 99+ Bt

PERSS

Options :

1. % ufda- 4g
2. ¢ Ddl-3UAl
3. % QIRI-ANYT
4. % QYR AT

Question Number : 88 Question Id : 5038905823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaRad o O wree-gm & T8t 3rf-2e &1 997 Bifore-

PER S

Options :

1. % ufdx-gg
2. ¥ B3
3. % GORI-ANT
4. % YHR- AT
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Questiomr Number—89-Questiomr td—+5638905824 Question Type : MCQ Option Shuffling : Yes Is
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu T gt & A A 9 f5w RS ot favfaa o1 v fear man g
Jel e BT B

Options :

1. ® UG HRPD
2. ¥ 3(UIGH HRD
3. % Pl HRB
4. ¢ Y DR

Question Number : 89 Question Id : 5038905824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu 7w gt & e A O f5a R ot favfaad o1 uan fear man g2

EHACE I korad
Options :

1. % UG HRP
2. % UG HRP
3. % Bl PRD
4. ¢ dY HRP

Question Number : 90 Question Id : 5038905825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRfeIRad # @ Ueha Weq &1 I BHifoTE-
Options :

1. % fear

2. e
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3. % TIfr

4 S 9
= raTr<srs

Question Number : 90 Question Id : 5038905825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAfIRIT § ¥ Thadd sg &1 I DifoTd-
Options :

1. % et

2. e

3. % ear

4. % faRmr

Question Number : 91 Question Id : 5038905826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEAfIREd & @ SH-91 a1 1[G 51 87
Options :

1. % TNER AIgT 1 YA S & |

2. % TRl &1 GEdHR a1 ST |

3. ¥ S IR TR &

4. % YIET G UHE< BT SUURI 5|

Question Number : 91 Question Id : 5038905826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfRed & @ SH-91 a1 S1[S T8 87
Options :

1. % TER gl &1 ITH §1aT1 |

2. % PrETolt & DR g1 TR |

3. ¢ g IR AATE &
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4. % JaeT T UHE< $T U §

Question Number : 92 Question Id : 5038905827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feIferRad & Y 1 & UDR b1 TG DIToIT-
4fg 98 Ugl gial alf Scitvl g1 STl

Options :

1. % JYdgarad ared

2. ¢ Johdardd ared
3. % [qWUdrEs ar
4. % SIIAMED I

Question Number : 92 Question Id : 5038905827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFEfaRad ¥ O 9199 & TSR &1 999 BHIfoTL-
gfe a8 UeT BIdT ot Siul g1 STl

Options :

1. % dcgdrded areg

2. ¢ Adhdadrad are
3. % fqgdra® aI
4. % ZTIAMID dI

Question Number : 93 Question Id : 5038905828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=ferad & I fow gerak &1 o Swm a1 Sfe g 82
Options :

1. % FHoiol g Bl M
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2. % FHAol 81 BT

AN o N
3+ sl IR ey

4. % Hool TR TR TG

Question Number : 93 Question Id : 5038905828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfeRad & ¥ fog qeiar &1 o "Sw1 31 e g1 22
Options :

1. % Srol 4g &I 3T

2. % Hloll 38T HRAT|

3. ¢ Haol R I1Y el

4. % Hotol TR YRR G|

Question Number : 94 Question Id : 5038905829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & & fra e o1 o " T ST g 82
Options :

1. % BPR b W W IHA BT ddT|

2. ¢ AR DI ardl H faaT|

3. % T H W@ AR A R

4. % WP 4 AP ETR |

Question Number : 94 Question Id : 5038905829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfafed & 9 forg Aeifad o1 o "aIv W ST 5" 82
Options :

], % BPR &b W W I DI dd |

2. ¢ IR BIarel H fa®1I
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3. % S T ghY TR I S}
4% T o1 W dol eled

Question Number : 95 Question Id : 5038905830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foied & 9 <ieT, URaT, AT, TaaT.Sida 3M1fe & JEmafd & ofd & &1 T A & |
Options :

|. % U=dTE® fog

2. % fowmfaiys fog

3. % g fag

4. quffR g

Question Number : 95 Question Id : 5038905830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrfoRad & @ qigT, IRaT, TTS, HaaT,Hida TG Hi gYHard & 3fd & & AT STl 5 |
Options :

1. % U=AarSD g

2. % fawmnfeaius fag

3. % gHfaH g

4. ¢ QUifaR™ g

Sub-Section Number : 2
Sub-Section Id : 503890247
Question Shuffling Allowed : Yes

Question Id : 5038905831 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TR TTRIT=T ST ST gd® 378qa R U=AT & SR GIToTe-
SRR R R URAR FaeH & HRIHH 3R A1 ! AR FaTd o1 offd & b 3 fagoe sl IR §R71 SRR S 3% &, ad &l 97y
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T UEd Ui ST 38 & | o eifdl 39 dRE o (a1 TS & oy Sifgddr g2
g 9 gyt U TR B WHRA & b SIS Tt ST Jad a1 Tdhe § IR dedl AEe! TR Ak & ol S I SRR IUM 6l S | 98

for &1 forg TR1 B | e &t SiRen R feion § TR wed) gR1 1fid WeR SHAmY § s 3R STed & |

R A 9 31 YHRIRT & a1 URER &1 BYeT e auT 5+ 01 & Iural Yeieh fagmoe foramn ure fasar a9 @i 3 g gr-dren
e o & Y, seall ) farTrs @181 3% it A 31 I ot =isgTacht &l ey STy STt

T I 3RIY HI $& §¢ I Tl & U 39 dR8 D Y14 gH el Y furepx fohal &R 3 ebd 82 o= 4R-dR §¢ 1 8 § 3R 35
-, S =0T qur aRaR-Faer deeh gemam feet 7 o W@ia @ urd 81 € 9l €1 519 3% sredart I ) Tad Tlid 9 Ui
BT A4 98 g1 BT U fRyfe & i 4 38 el 95 R Hg! SHbR] SUdst] Hrl S|

Sub questions

Question Number : 96 Question Id : 5038905832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed & @ Sufed T &1 I 2NE S 52
Options :

1. % URAR e & 3|

2. % ReRH: TP MR

3. % GRGR: Uh R |

4. ¥ XA W URaR-Faom detht Jeamd fedt s |

Question Number : 97 Question Id : 5038905833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Soe TR H A A gREH R URaR- e il famomt & o oM &t aneferdr &1 A a1 acb faar g2
Options :

1. % YR & AU Q I WR Bl YHIE 81 Usdl g

2. % Y ORE & A0 or=dl ) GHY & URard i Uig T8t e e ol

3. ¢ 3 TRE B YN i ¥ HTASH THY qP g [SUTs of qbtt |

4. % 3 ARG & AU T 3R 34f¥eh T dgdl 9 @l 5

Question Number : 98 Question Id : 5038905834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Sudad T B uged foa T e <ges eR-¢R 93 81 3R 8 1~ e H fepanfaRiwur o 32

Options :

1. % 9=
2. ¢ -G
3. % g3

4, % g

Question Number : 99 Question Id : 5038905835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sudad T H {9 &1 7l R 94 fear mar g2
Options :

1. ¢ S g3 SMAT! Bl Jahe |
2. % gedl g3 6K R ddhe|
3. % faTUA: S foA1R &1 SR

4. % fa9To=T @ ATy |

Question Number : 100 Question Id : 5038905836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TR | TRa® & AR, fora @1 fag @1 8
Options :

1. % gedt 3aTdl R AH & fore o1 I fagmust o1 T foear S|

2. % gl MMETel Bl 3R TG & O DIH-8 SRR Iu frd oid |
3. ¢ Fgal 3MaTel TR b & ol S F HRIR IuT fHa S|

4. % gedt AT R AP & U HF J FRIR U {58 omd |

Question Id : 5038905831 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

f=fefad T &1 eayde srerad e Ul & Ik dIfTe-
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GREH IR URAR Ao & SRl 3R RTo & AR JaTd 361 SITd 6 [ 3 fau= fieal IR §17 SRR S48 ©, ed| &l 907d
3 UEd Ui §91 38 & | 1 Yl 39 dRE & A9 99 & g sifigaer 82
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Question Number : 96 Question Id : 5038905832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfaRad & & Sufad TR &1 Ifd 2RNS DF-1 62
Options :

1. % gRaR e & U |

2. % GRGRM: U MRMY|

3. % GRER: Uh R |

4. ¥ TR W URAR-FeF deeht Jaam fad-T safkiee |

Question Number : 97 Question Id : 5038905833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 98 Question Id : 5038905834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 99 Question Id : 5038905835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 100 Question Id : 5038905836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 101 Question Id : 5038905837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Indian Political thinker was of the opinion that change in the attitude of one’s own people is revolt ?

Options :

1. ® Mahatma Gandhi
2. ¥ Kautilya

3. # Sri Aurobindo
4. ®# B.R. Ambedkar



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Question Number : 101 Question Id : SD38905837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 f5g yRdg Iomifae foare o1 7 Ut fob 3 g < & el & uRad- fagis 82
Options :

1. % TGTET TR

2. ¥ Dife

3. % off 3Rfdal

4. % §) 3R, STSH

Question Number : 102 Question Id : 5038905838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Captain Swing revolt in rural England occurred in which of the following years?
Options :

1. ¥ 1830

2. % 1859

3. % 1891

4. % 1899

Question Number : 102 Question Id : 5038905838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i $rcfs o e R fagie Fofafed 3 § foe ad o gem um
Options :

1. ¥ 1830

2. % 1859

3. % 1891

4. % 1899
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Question Number : 103 Question Id : 5038905839 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ted Robert Gurr expounded the theory of revolution in which of the following books?
Options :

1. #® People versus State

2. % From mobilisation to revolution

3. ¥ Why Men Rebel

4. ® Revolutionary Change

Question Number : 103 Question Id : 5038905839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&3 ae R A Ffeied o 9 ford qeas o wifa & Rigid & are a2
Options :

1. % Uiyd ad¥ ¥

2. % TpIH HIfGeguIRM ¢ Yl

3. ¥ T B e

R RCIGRENE

Question Number : 104 Question Id : 5038905840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following describes the Marxist theory of revolution?

Options :

1. # That the revolution takes place due to the development of social imbalances and systemic disequilibrium.
2. % The main cause of disaffection and rebellion is relative deprivation of the people.

3. ¥ That the main cause of revolution is in the history which believes in class warfare.

4. ¥ That the main cause of the revolution is the liberals who believe in reforms

Question Number : 104 Question Id : 5038905840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 105 Question Id : 5038905841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following political thinker in his treatises of government stated to have given the chief end of people uniting into commonwealth,
and that chief end of the state is the protection of the property of the people and about limiting the powers of a state?

Options :

1. #® Plato

2. % Aristotle
3. ¥ John Locke
4. % Karl Marx

Question Number : 105 Question Id : 5038905841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % widl

2. % 3R]

3. ¢ S dldb

4. % P AR

Question Number : 106 Question Id : 5038905842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Consider the following statements with rdgards to political thought.

1.Political thought is primarily the study of the state.

2. Political thought studies society as it influences the state and the social life, though independent it is inter dependent
3. Political thought focuses on economic institutions and process insofar it influences the political order and process.
4. Political thought and political theory are interchangeable concepts.

Which of these is/are incorrect statement(s)?

Options :

1. % Only 1 and 4
2. % Only 1 and 3
3. % Only 4

4. ® Only 3

Question Number : 106 Question Id : 5038905842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mo fid & Geiy § FafaRad U=l W fdaR &3

1. Yo fofa T ©0 9 I9 61 99 5|

%?ha%ﬁiﬁaﬁﬁa:rwwa{wm%aﬁ%ug T 31 HHIID Sitd Bl THTTAd Bl &, BIdifh I8 Wad 8, TR U Gk IR
|

3. ST feia anfiies TRl 3R Ufohan R S sd BidT 8, STgi do I8 AT SIaRIT 3R Ufehal ®HI THIAd Hvd g

4. oI RidT SR IeHifde Rigid fafdg saurom g

faU U S & 9 e ST AW HY bl AT

Options :

1. % Had 1 3R 4
2. % Had 1 3R 3
3. ¢ Hhad 4
4. % $Had 3

Question Number : 107 Question Id : 5038905843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Justice for Plato is which of the following?
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Options :

1. ® Justice consists in the mere adherence to the laws.

2. # Justice is the triumph of the stronger over the weaker
3. # Justice is in loyalty to the monarch

4. ¥ Justice is achieved with an eye for the good of the whole

Question Number : 107 Question Id : 5038905843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 108 Question Id : 5038905844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rousseau stated that the Plato’s Republic is a treatise on-

Options :

1. ¥ Military

2. % Governance
3. % Education
4. ¥ Monarchy

Question Number : 108 Question Id : 5038905844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 109 Question Id : 5038905845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following statements with regards to Aristotle’s views on particular justice:

1. Particular justice is of two types-distributive and corrective.

2. Distributive justice hands out honours and rewards accordingly to the merits of the recipients-equals to be treated equally and unequal,
unequally.

3. The corrective justice takes no account of the position of the parties concerned.

4. Particular justice is the performance of one's duties to the best of one's abilities.

Which of these is/are incorrect statement(s)?
Options :

1. % Only 1 and 4

2. % Only 1 and 3

3. % Only 4

4. % Only 3

Question Number : 109 Question Id : 5038905845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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4. oIy U § = frdt &t Tvgdr & IR 3 Hoad! & TS g |
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Options :

1. % Pad | 3R 4

2. % Had 1 3R 3

3. ¥ Hdd 4

4. % $Hdd 3

Question Number : 110 Question Id : 5038905846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aristotle’s theory of Property is based on his criticism of which of the following?

Options :

1. ¢ Plato’s communism of Property

2. % Socrates’ theory of general justice

3. # Plato’s theory of state as a shared space

4. ® Socrates’ communism of property

Question Number : 110 Question Id : 5038905846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 111 Question Id : 5038905847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Correct Marks : 1 Wrong Marks : 0.25
Plato’s Republic was written in the backgfound of which of the following wars?

Options :

1. # The battle of Marathon
2. ¥ The Peloponnesian War
3. # The Battle of Salamis
4. % Battle of Thermopylae

Question Number : 111 Question Id : 5038905847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wicl & "Rufstte FafaRad & 9 food g &1 ggyfH o forar ar o1
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Question Number : 112 Question Id : 5038905848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and other as Reason (R):

Select the correct answer from the code given below:

Assertion (A): Machiavelli based his thoughts on the ancient Greek assumption that the state is the highest form of human association necessary
for the protection, welfare and perfection of humanity and as such the interests of the state are definitely superior to individual or social interests.

Reason (R): His second premise was that the self-interest in one form or another, particularly material self-interest, is the most potent of all
factors of political motivation.

Options :
1. ® Both (A) and (R) are true and (R) is the correct explanation of (A).
2. ¥ Both (A) and (R) are true, but (R) is not the correct explanation of (A).
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3. # (A)is true, but (R) is false.

A S OAN e folon Tt (DY 3o 4

(D
- Z X)) IS5 Tarstr out U115t B

Question Number : 112 Question Id : 5038905848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 G By AT T §, U & SHUHUT (A) 3R TR B HRUTN (R) HET T 3
+Id 3T 7T e T gt IR BT I DifoId:

BT (A): Bfdraraet 7 U= M YRON IR U= faaRT &1 SR fora fas 0 Ad 99 &1 Swdd 0 g S AFddT &1 gRaf,
HeaT0T 3R gofdT & o 3mawae § 3R 39 ke Xed & fod (i U ¥ fadid a1 9o fedl 9 dgar 8 |

HRUT (R): BT GORT YR T U7 foh Warfura foredt =1 fordt =0 &, famiy &0 & 1ifaes w@reforar, Iemifas IRon & 9+t sRe! # 9ad
RIESRIIR]

Options :
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Question Number : 113 Question Id : 5038905849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Machiavelli is known for his cardinal principle of ‘Moral indifference’. Which of the following is another cardinal principle which forms the
basis of his political philosophy?

Options :

1. % Universal Egoism
2. % End Justifies means
3. ¥ Moral Egoism

4. % Altruistic Morals
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Question Number : 113 Question Id : 5038905849 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 114 Question Id : 5038905850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following political philosopher was known as the Monster of Malmesbury?

Options :

1. ® Jean Jacques Rousseau
2. % Immanuel Kant

3. % John Locke

4. ¥ Thomas Hobbes

Question Number : 114 Question Id : 5038905850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 115 Question Id : 5938905851 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following expounded the absolutist theory of Sovereignty and originated the positivist theory of law?

Options :

1. #® John Locke

2. % G.W.F. Hegel
3. % Thomas Hobbes
4. % JS. Mill

Question Number : 115 Question Id : 5038905851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 116 Question Id : 5038905852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Consider the following with regards to the constituents of State as prescribed in the Shanti Parva of the Mahabharata:
1. State is visualised as an organic body having Nine organs.

2. Swamin or the king is considered as the head of this structure.

3. Janapada means territory having agricultural land, mines, forests, etc.

4. Danda suggests the fortification of the capital.

Which of these is/are correct statement(s)?

Options :
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1. % Only 1
2 o ﬂn]y 2 and 3

3. % Only 3 and 4
4. % Only 2

Question Number : 116 Question Id : 5038905852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $ad 1
2. ¢ Had 2 3R 3
3. % $Had 3 3R 4
4. % $Had 2

Question Number : 117 Question Id : 5038905853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and other as Reason (R):

Select the correct answer from the code given:

Assertion (A): In the Shanti Parva of the Mahabharata we find the reference to Matsyanyaya, a condition in which small fishes become prey to
big fishes.

Reason (R): This analogy was given to explain the anarchic condition in a society where no authority exists.
Options :
1. ¥ Both (A) and (R) are true and (R) is the correct explanation of (A).
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2. % Both (A) and (R) are true, but (R) ignot the correct explanation of (A).
3 _# (A) 1s true _but (R) is false

4. ® (A)is false, but (R) is true.

Question Number : 117 Question Id : 5038905853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ia 1 FYF RRU MU B, T 1 3IfHYT (A) 3R G B! HRUT (R) HET T &

SAHUT (A): HETHRA & Tifd Id & §H AT &1 Ieka Herdl 5, T Tt FRufal fored Bt meferal 9t asfordl &1 RIeR g1 ot 5

BRI (R): TE JIET THS B RIS U Bt e & & fore foar mar o1 gt 13 3ifieR Hisle 81 ]
Options :

1. ¢ (A) 3R (R) GHI I B 3R (R) (A) D! JgI T B |

2. % (A) 3R (R) TFI I &, AfFA (R) (A) P Tg! IR el 5

3. % (A) 94 8, Aftb (R) T B |

4. % (A)TAd g, Afd (R) T &I

Question Number : 118 Question Id : 5038905854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is considered as the harbinger of liberalism and modernity in Indian Muslim Society?
Options :

1. # Mohammad Ali Jinnah

2. % Maulana Abul Kalam Azad

3. ¥ Sir Sayed Ahmad Khan

4. % Sayyid Mahdi Ali

Question Number : 118 Question Id : 5038905854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
frgfofad & 9 frd yRdia gRdd Ta & IeRaTg 3R SYeadl ST 3Rigd HIHT offdl 87

Options :

1. % HgWe 37cl forag

2. % TIAMT g HATH 3MeE
3. ¢ TR IS 3gHE TH

4. % qTG g4l 3feht

Question Number : 119 Question Id : 5038905855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jyotirao Phule established the first school for shudra-atishudra girls in which of the following years?
Options :

1. % 1845

2. % 1879

3. % 1868

4. v 1848

Question Number : 119 Question Id : 5038905855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SITRTd Gt A Yx-SMeI=Is H-=arshi & g gy foenea &t w1 fHafaRad 3 9 ford an 3 &t ot
Options :

1. % 1845

2. % 1879

3. % 1868

4. v 1848

Question Number : 120 Question Id : 5038905856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following termed the British rule in India as ‘a boon in disguise’?
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Options :

2. ¥ Raja Rammohan Roy
3. # Dayanand Saraswati
4. ® Jyotiba Phule

Question Number : 120 Question Id : 5038905856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed 7 9 feogs yRa © fafewr I &1 'Oy § SReM g1 Ui

Options :
1. % SHfbTds IS
2. S IH HGAAY
3. % qUMQ Y&l
4. % e pot
Discipline2
Group Number : 7
Group Id : 50389099
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2

Section Id : 503890207
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Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890249
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5038905857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Indian Political thinker added almost a religious fervour to nationalism by identifying mother India with 'Shakti' or
power of the Indian people?

Options :

1. ® Swami Vivekanand

2. % Bankimchandra Chattopadhyay
3. ¥ M.K. Gandhi

4. ¥ Sri Aurobindo

Question Number : 121 Question Id : 5038905857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
W%a@ﬁﬁmwmmﬁwﬁwwﬁvw'mmﬁa@ﬁaﬁﬁ%wuwmwﬁwmwm
RIS

Options :

1. % G fadeHg

2. % §fbHdg gguer

3. % T, &, Wi

4. ¢ off 3RfSE
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Question Number : 122 Question Id : SD38905858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Who among the following wrote in a letter that “Most religious men I have met are politicians in disguise; I, however, who wear the guise of a
politician, am at heart, religiousman. My bent is not political but religious."

Options :

1. ¥ Swami Vikekanand
2. % Sri Aurobindo

3. ¥ M.K. Gandhi

4. % BR Ambedkar

Question Number : 122 Question Id : 5038905858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefead & 9 forem te = | foran B o6 8 o enfifes goel § fira § @ 9 § o §; gTaiies, H, S Teb IeTdT &1 9% Ug-dT §, ied
3, y1ftfes Safdk § | BR1 b ST ol dfcep i g1

Options :

1. % Wl fageHg

2. % ot 3RfSaN

3.« TH. & Tl

4. % §} 3R TSI

Question Number : 123 Question Id : 5038905859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mahatma Gandhi edited his mouthpiece called Young India, which was later renamed as which of the following?
Options :

1. # Sarvodaya

2. # Hind Swaraj

3. ¥ Harijan

4. % Satyagraha
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Question Number : 123 Question Id : SD38905859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TR TiTelt = I &A1 A 30 TEu o1 HuTe- o, o aTe # Faferiaa o & aar =4 foar
Options :

1. % gafey

2. % fgg TR

3. ¥ gReH

4. % AR

Question Number : 124 Question Id : 5038905860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gandbhiji’s proposal of Sarvodaya was based on which of the following proposition?

1. That the good of the individual is contained in the good of all.

2. That the lawyer's work has the same value as the barber's, in as much as all have the same right of earning their livelihood from their work
3. that a life of labour, i.e., the life of the tiller of the soil and the handicraftsman is the life worth living.

Options :

1. # Only 1 and 2
2. % Only 2 and 3
3. % Only 1 and 3
4.% 1,2and 3

Question Number : 124 Question Id : 5038905860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tt i T afey o1 Uxdrd Fafeiad & I frg vdg wR snutia um

1. f aafea ot yarg gt &t vars A fFAfga §

2. IHIA b PTH BT IdT 81 Hed © o1 fos 18 &7, S/ Bt Tt Y 3199 1 T 3refifaesT HHM &1 IHH PR B |
3. 9 BT St 3rufe i) Shiaa aral 3R gXafRIed &1 Sitad S 91 SitaH ]

Options :

1. % Bhad 1 3R 2
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Question Number : 125 Question Id : 5038905861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following defines political theory as “a network of concepts and generalizations about political life involving ideas, assumptions
and statements about the nature, purpose and key features of government, state and society and about the political capabilities of human beings”?

Options :

1. ¥ Andrew Hacker
2. % Bluhen

3. ¥ David Held

4. ® George Sabine

Question Number : 125 Question Id : 5038905861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ oF IoHifae Rigid &1 39 a9 URYIRNG &RdT 8- "ISifdd Sita- & dR H GRS 3R JrHRNSR0 U STd &
EUH g, O & WMAR, I7 3R JAS Bt UH(d, 3539 3R THE fARAwdrsil 3R H1a &t Ao arstt & IR J g, 4Romg 8k
I M g2

Options :

1. # TS g

2. % SR

3. ¥ Sfds e

4. % SISl gETga

Question Number : 126 Question Id : 5038905862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following political scientists wrote the book “The Nerves of Government” to explain the political theory?
Options :
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1. ¥ Arnold Brecht
2% Karl Deutsch

3. % David Mitrany
4. ® Hayward Alker

Question Number : 126 Question Id : 5038905862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTorHIae Rigid &1 sare - & fort fFafafad & § fow Iorifde axifHe = ' T 3ifh Ta-He" g fora &t
Options :

1. % 3ffee =

2. ¥ B S

3. % Sfds fiEma

4. % BAS 3fch

Question Number : 127 Question Id : 5038905863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is not true about political theory?

Options :

1. # The methods, which political theory adopts, include description, explanation and investigation of the political phenomenon

2. # Though political theory is all about what is ‘political’, yet it attempts to understand ‘political’ in relation to ‘social’, ‘economic’,
‘psychological’, ‘ecological’, ‘moral’, and the like

3. ¥ Political theory can be either prescriptive or explanatory, but not both of them.

4. # The objective which political theory seeks to achieve is to build a good state in a good society, and in the process, create processes,
procedures, institutions and structures historically tested and rationally attained

Question Number : 127 Question Id : 5038905863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
eI Rigid & IR | HafiRad & 9 & 91 &ud 9 T8 82

Options :
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U Y UeI07 3R dHETTd 30 UTed Uiparaii, Ufsharshi, Y1 3R I=-131f &1 AT A1 g |

Question Number : 128 Question Id : 5038905864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following said that Political theory as philosophy is “the attempt truly to know both the nature of political things and the right, or
the good, political order?

Options :

1. ® George Sabine
2. % Immanuel Kant
3. ¥ Leo Strauss

4. ® Arthur Bentley

Question Number : 128 Question Id : 5038905864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad @ 9 foram oel fo qRiFIRd & 0 & Iomifae Rigid I8 8 &1 RIS dioll & Upid 3R Tal, IT 31, Aei-1Tdd gl
G &1 S &1 el aR"?

Options :

1. % SISl garga

2. % AU HIUC

3. ¢ faar g

4. % MR ded

Question Number : 129 Question Id : 5038905865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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The word state, as a word stato, appeared|in early part of the sixteenth century in the writings of whicl of the following?
Options :

1. ¥ Machiavelli

2. % John Locke

3. % Thomas Hobbes
4. ¥ Bentham

Question Number : 129 Question Id : 5038905865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

state Teg, U Teg stato P U H, FfeEad # I foorg & oia H Hicigdl Wdlec! & URIHD HITH 37T 412
Options :

1. v Dfgarae

2. % G Al

3. % YAy gley

4. % §YH

Question Number : 130 Question Id : 5038905866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A State is found in its elaborate system. Which of the following will not constitute as a part of this system?
Options :

1. # Military and Police

2. ® Legislature and Executive

3. % Judiciary

4. ¥ Religious Institutions

Question Number : 130 Question Id : 5038905866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP o4 39| fawga vomett & gt ST & | Fgfeiad & O HH-91 59 Junelt & U Y & &9 | 1fed Tal g2

Options :
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Question Number : 131 Question Id : 5038905867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Political Scientist referred the Civil Society as “the modern representative democratic republic.”?
Options :

1. # Jurgen Habermas

2. ¥ John Dunn

3. # Neena Chandhoke

4. % J.S. Mill

Question Number : 131 Question Id : 5038905867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied & 9 ford Iomifaed a3 A AR TS &1 "31eyfe Ui diedid TR" 68l 62
Options :

1. % T gaHg

2. ¥ G e

3. % AT TSIh

4. % S Tg. fd

Question Number : 132 Question Id : 5038905868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following regards the state as built on power relations already existing in society?
Options :

1. ¥ Neena Chandhoke
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2. % Skocpol
3% Michel Foucault

4. % David Held

Question Number : 132 Question Id : 5038905868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafIRed & I 3 o0 & 90 & Ugd ¥ Aivlg 1 Ya IR SeTRd AT g2
Options :

1. % HH1TEID

2. % ThibUId

3. ¥ IR PPl

4. % e

Question Number : 133 Question Id : 5038905869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following theory of State, lays that the administrative and coercive organisations are the basis of state power?
Options :

1. ® Anarchism

2. % Anti-Statist

3. ¥ Statist

4. ¥ Communism

Question Number : 133 Question Id : 5038905869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oY &1 Fafifad & @ & 91 Rigid 9d1d1 & fob U=maie ok sradiss e Iy Qe 6T YR 89
Options :

1. % 3RISIhdldlg

2. % faR1dt iRsapt

(Anti-Statist)
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Question Number : 134 Question Id : 5038905870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who of the following is not associated with the theory of Natural Rights?
Options :

1. ¥ Thomas Hobbes

2. % John Locke

3. % J.J. Rousseau

4. % Harold Laski

Question Number : 134 Question Id : 5038905870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & @ & mpfae feERI & Rigia I J&fid T8t 82
Options :

1. % YIAY gleq

2. % G Al

3. % OO =4I

4. ¥ TS ARG

Question Number : 135 Question Id : 5038905871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is not a proponent of Positive Liberty?
Options :

1. #® Jean-Jacques Rousseau

2. % Immanuel Kant

3. % T.H. Green
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4. % [saiah Berlin

Question Number : 135 Question Id : 5038905871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRed § I 3 THRIES Jadl o1 T04S g1 52
Options :

1. % S-ole =

2. ® FHUA PpIUC

3. % dlgE. U

4. ¥ TG §feH

Question Number : 136 Question Id : 5038905872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the statement which is not true with regards to the concept of Equality?

Options :

1. # Legal equality becomes meaningless in the absence of equal opportunities to get justice.

2. # (lassical liberalism, held that equal distribution of opportunities required merely equal allocation of basic rights of life, liberty and
property.
3. % The demand for political equality is summarised in ‘one-man-one-vote’.

4. ¥ Economic equality can only be envisaged under the framework of a socialist society.

Question Number : 136 Question Id : 5038905872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
98 YT MU S JHAAT $I SAYRT & Jae H T T8l 82
Options :
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Question Number : 137 Question Id : 5038905873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and other as Reason (R):

Select the correct answer from the code given below:

Assertion (A): In spite of physical and psychological difference between men and women, there is no evidence that women are in general inferior
to men in intelligence, business capacity, soundness of judgements etc., and that discrimination resting on such assumed inferiorities is
misplaced.

Reason (R): The admitted differences will not support discrimination between the sexes in respect of voting rights, entry to profession,
educational opportunities, level of remuneration etc. Thus ‘equal pay for equal work’ means that men and women should be paid equally if they
do the same type of work

Options :

1. ¥ Both (A) and (R) are true and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. # (A)is true, but (R) is false.

4. # (A)is false, but (R) is true.

Question Number : 137 Question Id : 5038905873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ (A) 3R (R) THI T & 3R (R) (A) D! Jg! ARSI 3|

2. % (A) 3R (R) T I &, AP (R) (A) P Tg! AR a1 B |
3. % (A) 94 8, Aftb (R) T B |

4. % (A)TTAd g, Afpd (R) T B

Question Number : 138 Question Id : 5038905874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following said that “justice is the first virtue of social institutions.”?
Options :

1. % B.N. Ray

2. % Tom Campbell

3. % John Rawls

4. # Isaiah Berlin

Question Number : 138 Question Id : 5038905874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & 9 forem wer fo =amg arfTe Twirsil &1 ugar o g2
Options :

1. % TR

2. % T Huad

3. ¢ S A

4. % g8 §fei

Question Number : 139 Question Id : 5038905875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the List - I (Books) and List - II (Authors) and select the correct answer from the code given below:
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List 1 (Books/works) List IT (Authors)
A | A theory of justice 1. | Michael Sandel
B. | John Rawls and the agenda of 2. | B.N. Ray
Social Justice
C. | Liberalism and Limits of Justice | 3. | John Rawls
D._| Anarchy, State and Utopia 4| Robert Nozick

Options :

1. ¥ A-1,B-2,C-3,D-4
2. % A2, B-1,C-4,D-3
3.¥ A-3,B-2,C-1,D-4
4. % A-3,B-1,C-4,D-2

Question Number : 139 Question Id : 5038905875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T - 1 (Qd) SR T - 11 (Raeh) HT e &L 3R - AU T ®i 1 98t S I

Tt - 1(qF) Tt -1 @)
A | 37 210 FTw FfEew L. | ATsder d3a
B.| S Aeq Us T vaist FTE At |2 | @ oY
e
C. | e fore# vs faffew 3w 3. | St Tod
IR
D.| s1=rehf, ¥ee Us geiiaan 4. | UdeArais

Options :

1. % A-1,B-2,C-3,D-4
2. % A2 B-1,C-4,D-3
3. ¥ A-3,B-2,C-1,D-4
4. % A-3,B-1,C-4,D-2
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Question Number : 140 Question Id : 5P38905876 Question Type : MCQ Option Shuffling : Yes
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The election commission classified the regional parties in India into how many categories?
Options :

1. %1

2. %2

3.¥3

4. % 4

GET IT ON

Google Play

[s Question Mandatory : No Option

Question Number : 140 Question Id : 5038905876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TG SANT A HRA & &= gl &1 fava-it Afor § afferd fasam

Options :
1. % 1
2. %2
3.¥3
4. % 4

Discipline3
Group Number : 8
Group Id : 503890100
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No
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Discipline3
Section Id : 503890208
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890250
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 5038905877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the All India Trade Union Congress (AITUC) formed ?
Options :

1. # 1918

2.¥ 1920

3. % 1923

4. % 1932

Question Number : 141 Question Id : 5038905877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ifa Sfear ¢ gfHam SN (WS <1 g, 3T &1 76+ foow ay fopar 7 Ut
Options :

1. % 1918

2. ¥ 1920

3. % 1923
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4. % 1932

Question Number : 142 Question Id : 5038905878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the British declare Assamese as official language of Assam ?
Options :

1. % 1947

2. % 1919

3. % 1887

4. ¥ 1873

Question Number : 142 Question Id : 5038905878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS A ford oy W ST o 3| BT TSRS HINT Gifvd fobar ur
Options :

1. % 1947

2. %1919

3. % 1887

4. ¥ 1873

Question Number : 143 Question Id : 5038905879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Assertion of Dalits in India are divided into three phases. Which of the following is not the correct phase?
Options :

1. #® The phase of Republican Party of India.

2. % The phase of Dalit Panther.

3. ¥ The phase of Ambedkar Jan Dal.

4. ® The phase of Bahujan Samaj Party (BSP)
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Question Number : 143 Question Id : 5038905879 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd  gferdl &1 arar = =Rl # sier T g | FafiRad § @ &1 91 wRu w8 T8 2
Options :

1. % YRdg Rufsde aref &1 R

2. % gferd TR &1 =R

3. ¢ 3TASHR oI Gdl P AR |

4. % Sgold THTST UTe] (§9UT) &1 TROT

Question Number : 144 Question Id : 5038905880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was Sarkaria Commission introduced ?
Options :

1. # 1966

2. %1978

3. % 1980

4.+ 1983

Question Number : 144 Question Id : 5038905880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRBIIAT AT fohdy a8 Tl fobam 71T T2
Options :

1. #® 1966

2. % 1978

3. % 1980

4. ¥ 1983

Question Number : 145 Question Id : 5038905881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following fact is not correct regarding annexation by the British in India?

Options :

1. ¥ In 1661 the British had got hold of Bombay as a dowry from the France royalty to the English king Charles I1.
2. % In 1765 the East India Company got the dewani of the Bengal suba from emperor Shah Alam.

3. # After the war of 1858 British sovereignty on India was transferred to Queen Victoria.

4. ® In the eighteenth century they occupied the Andaman and Nicobar Islands from the Dutch.

Question Number : 145 Question Id : 5038905881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e § Q & I aw SR gRT YR W $Hodl & It gt el 82

Options :

1. ¥ 1661 H W1 & ASTERT = Efere {1 a1ed 11 &) Gael o &0 | Sits bl [ i1

2. % 1765 H S 37$TT HUF D STGRITE WG SHTeH Y SIS Yol Hi e et |

3. % 1858 O I o §1G YR IR AT AUYT, HERT! [AaeiRAT &l gxdidiNg P g T8 A |
4. % IBREA Udled] A I8 Sl ¥ 3SHM 3R NDIER ¢ T TR Heoll & o

Question Number : 146 Question Id : 5038905882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following could be the reason for statehood demand after Independence in India?
1. Desire for correction of the territorial arrangement created during the colonial period.

2. To create a centralised system in India.

3. To introduce the concept of territorial jurisdiction.

Options :

1. ¥ Only 1

2. % Only2and 3
3. % Only 1 and 3
4. % 1,2and3
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Question Number : 146 Question Id : 5038905882 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFfIfed & ¥ &IF YR B I9d=dT & 1¢ IoT P Gof B AN BT HRUT 81 Jbdl g2
1) UFAfRID BTeT b GRIM §18 715 Q31T TR H JUR B 531

2) URA H Udh daidd HurTal §4H & forg|

3) &1 SHfUBR &F BT TYURUN B U HA & [T |

Options :

1. ¥ $ad |

2. % Had 2 3R 3

3. % Pad | 3R 3

4.% 1,2 3R 3

Question Number : 147 Question Id : 5038905883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was a British company, the Assam Tea Company established?
Options :

1. % 1800

2. % 1816

3. 1839

4. % 1866

Question Number : 147 Question Id : 5038905883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fofewr U, 3Rd & dut &t RITAHT iy a9 g3 e
Options :

1. % 1800

2. % 1816

3.¥ 1839

4. % 1866
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Question Number : 148 Question Id : SD38905884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Given below are two statements, one labelled as Assertion (A) and other labelled as Reason (R). Choose the correct answer from the code:

Assertion (A): The process of liberalisation and globalisation is throwing up new challenges to the Indian federalism.
Reason (R): It appears to be restructuring power relations between the centre and the states.

Options :

1. #® Both (A) and (R) are true and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. # (A)is true, but (R) is false.

4. ® (A) is false, but (R) is true.

Question Number : 148 Question Id : 5038905884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I3 G HYA AU T B, T & SHUHUT (A) 3R TR B BRUN(R) & U H qad (a1 T 8| He F Tal IR HT:

HBYT (A): SERIBRUN SR 10T BT UfchaT YR TodTg & A 5 JAadi @) PR g 5|
BRI (R): T Ul B B b 78 Frg 3R Il & s T Taielf o1 Gifod R @1 5

Options :

1. % GFI(A) 3R (R) I 8 3R (R) (A) D! gl T B

2. ¢ T (A) 3R (R) T 8, AP (R) (A) DI el TR a1 B

3. % (A) 94 g, Aftb (R) T B |

4. % (A)TTAd g, Afed (R) T B

Question Number : 149 Question Id : 5038905885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which Schedule of the Constitution are the 22 national languages in India listed ?
Options :

1. ¥ VIII
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2. % VII
3 # V]

4, %V

Question Number : 149 Question Id : 5038905885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA | 22 AP HTISH 1 Hide™ B oo et St o geias fovan g2
Options :

1. ¥ VIII

2. % VII

3. %8 VI

4. 8V

Question Number : 150 Question Id : 5038905886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Development/ Modernisation/ Systemic and neo-liberal are included in which perspective?
Options :

1. ¥ Marxian Perspective

2. ¥ Non — Marxian Perspective

3. # Lenin Perspective

4. ® Camus Perspective

Question Number : 150 Question Id : 5038905886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqemT/ 3 IHRu) YUITEvTd 3R F9-3eRard! fry ufvten o wnfire €2
Options :

1. % Hroare! uRkuey

2. ¢ IRATRIAIG! uReT
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3. % afa uRuey
4 % HTg U

Question Number : 151 Question Id : 5038905887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not correct regarding Land Reform?

Options :

1. #® The first phase of land-reforms started almost immediately after independence.

2. % Abolition of land reforms was the result of the impact of the peasant movements in the pre independence period.

3. # Objective was to provide security of tenure to those tenants who had cultivated a piece of land without break for a fixed number of years.

4. ¥ The Operation Barga launched by the Right wing government of Kerala in 1978.

Question Number : 151 Question Id : 5038905887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y gUR $ Gey § Fafafea # 3§ o o a8 e 82

Options :

1. % YN YR BT UGl IR WaAdl &b TR qRd §lG Y= g3l

2. % Y GURY BT I, WFdI-Jd B | fhaM Sfiaraql & YHTd &1 gfRum |

iﬁ% SUPHT 36T 3 BIRABRI B! USGRT DI YR& UG A1 AT, T8+ Ueh (i3 e o aul deb {1 &b S| & U gabs TR Wt Bl
|

4. ¥ 1978 T I B} G0t TRBR GRT Y [hdT 7T SRR S

Question Number : 152 Question Id : 5038905888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding Bhoodan Movement?
I. Bhoodan Movement was launched in April 1951 by Jawaharlal Nehru.

I1. Objective was to appeal to the landowning classes to donate their surplus land to the poor.
III. The idea had its origin in Gandhian belief that all the land belonged to God.

Options :
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1. % Only II is correct
2 % Roth Il and LI are correct

3. ¥ Both I and II are correct
4. % 1 1I and III are correct

Question Number : 152 Question Id : 5038905888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG SfigiaH & ey F Faffed § 4 &9 a1 98! 82

I Y& ATGIeH 3O 1951 B STATeRaTe "8 gRT Y& faa T 7|

I1. SHHT 364 SHIGR Tt § 3O+ SifaRad U TRIS &1 G R B S BT AT |
111. 39 faaR & Iaf mehard fayra & g8 ff fo I’ Y SR &1 8

Options :

1. % Had 1 Tel g

2. 11 3R 111 S I8 &
3. % 13RSI Tg g
4. % 1,11 3R 111 T8T §

Question Number : 153 Question Id : 5038905889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair is not correctly matched?
Options :

1. #® The Regulating Act - 1773

2. # Charter Act - 1833

3. ¥ Morley-Minto Reforms - 1919

4. # Indian Councils Act - 1861

Question Number : 153 Question Id : 5038905889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafefad 7 3 i a1 g It gaferd g &2
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Options :
1% o srffimm - 1773

2. ® I AT - 1833
3. ¥ Hi-fHe GUR - 1919
4. % YR uRyg AT - 1861

Question Number : 154 Question Id : 5038905890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair is correct regarding Development of Capitalist Enterprises during British times?
1. Cotton mills - Bombay

2. Jute mills - Calcutta

3. Coffee Plantation - Karnataka

Options :

1. # Only 1 and 2
2. % Only 2 and 3
3. % Only 1 and 3
4.% 1,2and 3

Question Number : 154 Question Id : 5038905890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fSfewr o1a & SR Usiard! g & faera & ey & FafiRad & ¥ o I s I8l 82
1. HUy el - 9T

2. SJefid - Sl

19 c
3. BIB] IR - HACH
Options :

1. % Pad | 3R 2
2. % Had 2 3R 3
3. % PHad | 3R 3
4.9 1,233
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Question Number : 155 Question Id : 5038905891 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following option is correct regarding Brahmo Samaj?

I. The Brahmo Samaj formed the ‘“Working Men’s Mission’ in Bengal.
II. It was started in 1828.

II1. Its objective was to spread Hinduism in India.

Options :

1. # Only I is correct

2. % Only II is correct

3. % Both I and II are correct
4. % Both I and III are correct

Question Number : 155 Question Id : 5038905891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&I A & gay § FafalRad 7 Q o9 a1 faw g8l 82
1. 58T QTS A ST H qich 1 A R &1 16 fohar|
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Options :

1. % Had 1 T8l 8
2. % HAd 1 Ysl g
3.V 13RI 9el g
4. % 1R M IS T

Question Number : 156 Question Id : 5038905892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not true regarding The All India Trade Union Congress?
Options :

1. #® Lala Lajpat Rai was the first president of the AITUC.

2. % AITUC got split in 1929.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

3. ¥ Joseph Baptista was the first presidgnt of the AITUC.
4_% Tenth session of the AITUC held in Nagpur.

Question Number : 156 Question Id : 5038905892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIT HRAIT <8 gfom B0 & gay & fafafad § 4 &F 91 9 781 82
Options :

1. % QTQ AoTId X4 U318, C1Lg I & Ugd 3ege U

2. % 1920 T U.3113.81.g. 1. oI fauTeH 81 |

3. S SfPReT U.3ME.d1 g, 8t & Ugd sremef |

4. % 9ATQR H U.3M15.E1.9, 5 &1 guail T Tiford gai|

Question Number : 157 Question Id : 5038905893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mahayana and Hinayana are the sub sect of
Options :

1. ¥ Buddhism

2. % Jainism

3. % Jews

4. # Parsi

Question Number : 157 Question Id : 5038905893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3R g F IYIUSH B

Options :

1. ¢ Sigud
2. % ST g

3. % ggdi
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4. % gRY!

Question Number : 158 Question Id : 5038905894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“In Pursuit of Lakshmi: The Political Economy of the Indian State” is written by -
1. L. I. Rudolph
2. S. H. Rudolph

Options :

1. % Only I

2. % Only 2

3. % Both 1 and 2
4. ® Neither 1 nor 2

Question Number : 158 Question Id : 5038905894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 3T AEHT: T UifIedhd ShIMIH 31 & Sfead e e gRI ford 75 82
1. Ta.3MT5. FSIcth

2. TH. T, TSI

Options :

1. % $Had |

2. % Had 2

3. ¢ 1 3R 2 gl

4. % A1 RGN 2

Question Number : 159 Question Id : 5038905895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An alternative to Nation-State perspective has been proposed in the form of “Province-State”. Sanjib Baruah has represented this perspective in
which of the following books?

Options :
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1. ¥ India Against Itself: Assam and the [Politics of Nationality
2 _# Durable Disorder

3. ¥ Postfrontier Blues
4. ® In the Name of the Nation: India and Its Northeast

Question Number : 159 Question Id : 5038905895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 331 3FIRe Seeh: 3 A US 4l Ulifaicad 3iith A=Here!
2. % S fSq3HTeR

3. % JRETH{CIR &Sl

4. % G Y 3T of A= : ST U8 e A

Question Number : 160 Question Id : 5038905896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Atul Kohli in his book Democracy and Discontent: India & Crisis of Governability has argued that -

Options :

1. #® There is more democracy in Kerala than the rest of the country due to the existence of the “robust civil society” and an “effective state”
unlike in rest of the country.

2. ¥ Erosion in the credibility of political parties, leaders, and the indisciplined political mobilization of various social groups, and class
conflicts within the society has led the Indian Democracy to face a crisis of governability.

3. # Since the 1970s, especially with the promulgation of emergency in India, the executive concentrated power in its hands eroding the
moderateness of the state. As a result, the executive resorted to populism, undermining the democratic institutions and personalising institutions.
The state virtually started acting against democracy.

4. ® The increasing role of crime, money, etc., has further eroded the credibility of local level democracy. Nevertheless, wherever the public
action has coexisted with institutions of
local self-government, the institutions of local self-government have functioned democratically.

Question Number : 160 Question Id : 5038905896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Question Number : 161 Question Id : 5038905897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“If the bill were attempting to set up a Parliamentary system in India, or if it would be said that this chapter of reforms led directly or necessarily
up to the establishment of a Parliamentary system in India, I, for one, would have nothing to do for it.” was read in the House of Lords during the
first reading on the Indian Council Bill on 17th December 1908 by:

Options :

1. ¥ Lord Edwin Montagu
2. % Lord Minto

3. ¥ Lord John Morley

4. ® Lord Chelmsford

Question Number : 161 Question Id : 5038905897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 162 Question Id : 5038905898 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following cases did the Supreme Court hold that while Parliament could amend even the Fundamental Rights ‘guaranteed’ by the
Constitution, Parliament was not competent to alter the ‘basic structure’ or ‘framework’ of the Constitution:

Options :

1. # Indira Gandhi vs. Raj Narain, 1975

2. ¥ Kesavananda Bharti Sripadagalavaru vs. State of Kerala,1973
3. ¥ Maneka Gandhi vs. Union of India, 1978

4. % Minerva Mills Case, 1980

Question Number : 162 Question Id : 5038905898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ST et 9 ST ARMIA, 1975

2. ¢ HAFG YR AT e I H BHd 54, 1973

3. % T el 9 YR 99, 1978

4. % fiaf fireg 54, 1980

Question Number : 163 Question Id : 5038905899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The significance of the 'Question Hour' in order to ensure administrative accountability was emphasized in-
Options :

1. # Bofors Scandal

2. % Jeep Scandal

3. % Nagarwala Scandal

4. ¥ Mundhra Scandal
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Question Number : 163 Question Id : 5038905899 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 164 Question Id : 5038905900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given below are two statements, one labeled as Assertion (A) and other as Reason (R):
Select the correct answer from the code given below:

Assertion (A): People rely more and more on the media to judge how their leaders campaign, govern, shape public policy, and communicate their
ideas.

Reason (R): In order to be well-informed citizens and active participants in our democracy, people must understand both our governing processes
and the role of the media in them.

Options :

1. ¥ Both (A) and (R) are true and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. # (A)is true, but (R) is false.

4. % (A) is false, but (R) is true.

Question Number : 164 Question Id : 5038905900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 165 Question Id : 5038905901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C. B. Macpherson in his enunciation of participatory model of democracy, visualized that even in advanced capitalist democracies, it is not
possible to gather together to make decisions on every issue due to the large and complex societies. In which of the following books was it
expressed?

Options :

1. ® Democratic Theory: Essays in Retrieval

2. #® The Real World of Democracy

3. % The Life and Times of Liberal Democracy

4. % Democracy in Alberta: Social Credit and the Party System

Question Number : 165 Question Id : 5038905901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 166 Question Id : 5038905902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

“Marxism and Politics” is written by:
Options :

1. ¥ Raymond Williams

2. ¥ Ralph Miliband

3. % Alan Woods

4. # Richard D. Wolff

Question Number : 166 Question Id : 5038905902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 167 Question Id : 5038905903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given below are two statements, one labeled as Assertion (A) and other as Reason (R):
Select the correct answer from the code given below:

Assertion (A): There can be no democracy without an effective state which can exist.
Reason (R): Both state and society are complementary to each other in relation to the setting up of democracy

Options :

1. ¥ Both (A) and (R) are true and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. # (A)is true, but (R) is false.

4. % (A) is false, but (R) is true.
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Question Number : 167 Question Id : SD38905903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 168 Question Id : 5038905904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Democracy and development are complementary to each other. Democracy is possible if people in a society have the entitlements and possesses
capabilities which enable them to be part of the democratic process. This perspective is given by which of the following scholars?

Options :

1. # Rajni Kothari
2. % Deepak Nayyar
3. # Pranab Bardhan
4. ¥ Amartya Sen

Question Number : 168 Question Id : 5038905904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 169 Question Id : 5038905905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marx explained the phenomena of exploitation in the capitalist society with the help of which of the following theory?
Options :

1. # Historical Materialism

2. % Alienation

3. % Class War

4. ¥ Surplus Value

Question Number : 169 Question Id : 5038905905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 170 Question Id : 5038905906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The treaty of Friendship was signed by India in 1971 with which of the following Countries?
Options :

1. ® China
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2. % Pakistan
3 % [ISA

4. ¥ USSR

Question Number : 170 Question Id : 5038905906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 171 Question Id : 5038905907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term Mandala was used as equivalent to the term world order in the ancient India. Which among the following used the word?
Options :

1. ¥ Kautilya

2. # Yajnavalkya

3. ¥ Manu

4. # Vyasa

Question Number : 171 Question Id : 5038905907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Difc

2. % YRIde]
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Question Number : 172 Question Id : 5038905908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following about Classical Realism:

1. Classical Realists is a term retrospectively used by later band of Realists, is thus often attributed to those theorists who were actively writing
on international relations immediately before and after the Second World War.

2. Under Classical Realism, the drive for power and the will to dominate are treated as the fundamental traits of human nature.

3. The behaviour of the state as a self-seeking egoist is thus understood to be merely a reflection of the characteristics of the people that comprise
the state.

4. Convinced of the unchanging human nature, classical Realists are highly pessimistic with regard to the possibility of any qualitative
transformation of world politics.

Which of the given statements is/are correct?
Options :

1. % Only 1 and 2

2. % Only2and 3

3. % Only 3 and 4

4.+ 1,2,3and 4

Question Number : 172 Question Id : 5038905908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 173 Question Id : 5038905909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The theory of neo-realism was developed by-
Options :

1. #® John Mearsheimer

2. % Hans Morgenthau

3. ¥ Kenneth Waltz

4. ® Joseph Nye

Question Number : 173 Question Id : 5038905909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % S R

2. % AR

3. ¢ Y dlecol

4. % GBI

Question Number : 174 Question Id : 5038905910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The theory of neo-realism was developed under which among the following?

Note: For this question, discrepancy is found in question/answer. So,this
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question 1s 1gnored for all candidates.

Options :

1. Theory of Conflict

2. Theory of Balance of Power
3. Theory of Deterrence

4. Theory of Carrot and Stick

Question Number : 174 Question Id : 5038905910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. gy &1 Rygid

2. T3 Hger &1 R

3. Ry &1 Rigia

4. TToR 3R Bet &1 Rigid

Question Number : 175 Question Id : 5038905911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following political philosopher is widely considered as the first Liberal thinker of 17th Century?
Options :

1. ¥ John Locke

2. % Thomas Hobbes

3. % Immanuel Kant

4. ® Voltaire
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Question Number : 175 Question Id : 5038905911 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 176 Question Id : 5038905912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not one of the underlying assumptions of the liberal approach to world politics?
Options :

1. ® Individuals are the primary international actors.

2. % States' interests are dynamic and are both self-regarding and other-regarding.

3. ¥ Neither individuals nor state interests are shaped by any domestic and/or international conditions.

4. % Mutual interests can sustain cooperation in the international system

Question Number : 176 Question Id : 5038905912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 177 Question Id : 5038905913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Which of the f'n]]n\m"ng (‘Hq‘ringnithq Libéral scholars from Neo-liberals?

Options :

1. # Liberals are confident in human progress through cooperation while neo-liberals are not.

2. % Liberals are optimists while the neo-liberals are considered as pessimistic.

3. ¥ Liberals are more confident in human progress through development while neo-liberals are less optimistic.

4. ® Neo-liberals are more confident in human progress through development while Liberals are less optimistic.

Question Number : 177 Question Id : 5038905913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAffed & ¥ oF IgRac! fagmi &l 79-IeRaTeal A 3T HRdl 82

Options :

|, % IR YgaNT &b A1H Q HFd WIfd & Ay T9d € Sdfe 7d IeRdle! dal|

2. % JERAICT ATTAIC! BId & SiaiP Td-IGRAId! FRIEE! 719 S1d & |

3. ¢ JeRAId! A & AIend I A-d WIfd H 31 M4 & Sidfe Ta-3eRdle] HH ATRMErd! § |

4. % 99-3eRard! faer™ & Ared T g wifa | S1fties MY Bid § Sidfd IGRAIc! &H ATATdIE gid 8 |

Question Number : 178 Question Id : 5038905914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the most prominent proponent of Functionalist School of Thought?
Options :

1. ¢ David Mitrany

2. % JP Sewell

3. # Paul Taylor

4. % AJR Groom

Question Number : 178 Question Id : 5038905914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 179 Question Id : 5038905915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true regarding the Functionalist School of thought in world politics?

1. The Functionalist School argues that greater interdependence in the form of transnational ties between countries could lead to peace.

2. The Functionalist believe that cooperation should be arranged by technical experts and not by politicians.

3. The main concern of the functionalists is to develop piecemeal non-political cooperative organisations, which will not only help establish
peace and secure prosperity but also render the practice of war obsolete eventually.

Options :

1. % Only 1 and 2
2. % Only2and 3
3. % Only 1 and 3
4.%1,2and3

Question Number : 179 Question Id : 5038905915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faey Iroifa  yprdard] foaR Swer & faar & ey & FHafeied & 9§ o 9d 62

1. Yprard] faaR YHIard ol deb ¢ fob o=l & did SiaRRISIg Haiel & w0 H 3if¥ieh FeRen Y wifd 81 avd! 5

2. YHAATE! faaR THIGT &1 I & b TganT &t aaUT ddh-11eh! (A= gRT &I S AR T A b AeiHarsii gRIl

3. HRAGATS B T WBHR CHSI-gh el H RSP TgBHRI W1 & [dHT BT |, S 7 had ifd R R Igfs =ftd
B § Hag BT diedh 3dd: g D1 U 1 S{u=ferd a1 ¢ |

Options :

|. % Ppad 1 3R 2
2. % Had 2 3R 3
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3. % Had 1 3R 3
4-s2 1 2 33

Question Number : 180 Question Id : 5038905916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not one of the core elements of the Marxist approach to the International Relations?

Options :

1. # All Marxists agree that the social world must be viewed and analysed as a totality
2. # Another element of the Marxist approach is the materialist conception of history.
3. % Marxists attribute a very special status to class in their analysis of society.

4. ¥ Marxist theories hold that, power is organised vertically, reflecting the division of the world into independent States.

Question Number : 180 Question Id : 5038905916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 9 3 siaRivy Hddt & forg Arediarct fP@iv & Hd dal & 9§ Us el o7

Options :
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Question Number : 181 Question Id : 5038905917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Convention on the Elimination of Discrimination Against Women (CEDAW) proposed by the United Nations?

Options :
1. ¥ 1979
2. % 1981
3. % 1999
4. % 2000

Question Number : 181 Question Id : 5038905917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 1979
2. % 1981
3. % 1999
4. % 2000

Question Number : 182 Question Id : 5038905918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following had used the term ‘Diplomatic War’ for cold war for the first time in 1947?
Options :

1. ® Louis Malle

2. % John Foster Dulles

3. ¥ Walter Lippmann

4. ® Richard Helms

Question Number : 182 Question Id : 5038905918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1947 H Ugd! §R 2d g & o0 ‘pe-iifded ' e o1 FarT (HafeiRad # 9 forgd gRy fobar mam ur
Options :

1. % 3 Aol

2. % 9 B S

3. ¢ dleeR fawdA

4. % RIS g

Question Number : 183 Question Id : 5038905919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Consider the following about Partial Test Ban Treaty:
1. It was signed in July 1963 by Britain, the United States and the Soviet Union.
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2. The Partial Test BanTreaty banned all fuclear tests in the atmosphere, in the ground and under watdr including the high seas.
3. However, it proved impossible to agred on a control system to ban underground testing. Thus, underground testing and nuclear weapons

manufacturing continued.
4. In spite of Partial Test Ban Treaty, France and China continued with their tests in the atmosphere.

Which of the given statements is/are correct?
Options :

1. # Only 1 and 2

2. % Only 2 and 3

3. % Only 3 and 4

4.9 1,2, 3and 4

Question Number : 183 Question Id : 5038905919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 e ufaey IfY & IR & FafaRed &R faeR &
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3. gTatifap, YERTA Utefor R ufdse TR 3 forg g1 qurelt R HeHd g1 SRIHT T1fad §afT| 39 UHR, HfPRTd UTefur 3R TR
SRIRY &1 fAHfor SRt &

4. 3ifRTH TRigrur Uiy e & Srasie, TN 3R T = aTdTaRul § 30+ URIefur oIkl X9 |

faU U S & O U B AT /Yl Bl g
Options :

1. % PHad 1 3R 2

2. % Had 2 3R 3

3. % Had 3 3R 4

4.9 1,2,33R4

Question Number : 184 Question Id : 5038905920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following regarding The Earth Summit:
1. The Earth Summit, the UN Conference on Environment and Development was held in Rio de Janeiro in 1992.
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2. All the Participating Countries adopted| ‘Agenda 25°, a blueprint to promote sustainable development.
3. This global conference, was held on th¢ occasion of the 20th anniversary of the first Human Enviropment Conference in Stockholm, Sweden.

Which of the given statements is/are correct?
Options :

1. % Only 1 and 2

2.% Only 1 and 3

3. % Only 3

4. % 1,2and3

Question Number : 184 Question Id : 5038905920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1 3R 2
2. Had 1 3R 3
3. % $Had 3
4. % 1,233

Question Number : 185 Question Id : 5038905921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Right to self-determination is given under which of the following articles of the UN Charter?
Options :

1. ¥ Article 1

2. % Article 3

3. % Article 51
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4. ® Article 55

Question Number : 185 Question Id : 5038905921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG Y AR & Faffed # 9 fby srgde & dgd el &1 SifteR f&ar mar g2
Options :

1. ¢ 3G |

2. % 3G 3

3. % 3w 51

4. % 3JWG 55

Question Number : 186 Question Id : 5038905922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Conference of the Non-Aligned Movement declared "its full support for the principle of Self-determination of peoples
and nations as setforth in the Charter of the UN" and its resolutions?

Options :

1. ® Potsdam Conference
2. ® Yalta Conference

3. ¥ Bandung Conference

4. % Paris Peace Conference

Question Number : 186 Question Id : 5038905922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬂ?ﬁ?ef&‘f SIMNE (Non Alignment Movement, NAM) & Fgfefad @ ¥ fog g A "{-igdd ﬂg%ﬁlﬁ?ﬁﬁﬂfﬁﬁ?ﬁ’ﬁ ﬁ?ﬂ@%
3fTeAfvfg & Rygid & ferg aromT gof g0 3ik 39 URaral &1 giyon &2

Options :

1. % GlcqeH qeleH

2. % Ylec] T

3. ¢ SigT g
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4. ® URy wifd W

Question Number : 187 Question Id : 5038905923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the author of the book “Politics and Vision™?
Options :

1. ¥ Sheldon Wolin

2. # David Held

3. % Karl Deutsch

4. % Arnold Brecht

Question Number : 187 Question Id : 5038905923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'giferfeay U8 fao gXde & aae FafaRad & 4 & g2
Options :

1. ¢ i dIfe (Sheldon Wolin)

2. % 3fd8 8 (David Held)

3. % WWT (Karl Deutsch)

4. % 318 SR (Arnold Brecht)

Question Number : 188 Question Id : 5038905924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

in his said that wrong policies of the government and immodest behaviour of the rulers give birth to revolts of the people.
Fill in the blanks by choosing the appropriate option:

Options :

1. # Aristotle, Politics

2. ¥ Kautilya, Arthashastra

3. # Machiavelli, The Art of War

4. % John Locke, Two Treatises of Government
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38905924 Question Type : MCQ Option Shuffling : Yes

wn
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 3R, Ui
2. ¥ Difeed, A

3. % AfHIAeh, g 31 3HTH aR
4. % W9 @, ¢ fefey 3ifth a-ide

Question Number : 189 Question Id : 5038905925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book titled, ‘Handbook of political conflict: Theory and research’?
Options :

1. ¥ Ted Robert Gurr

2. #® Vincenzo Ruggiero

3. ¥ Marc Sageman

4. ® Earl Conteh-Morgan

Question Number : 189 Question Id : 5038905925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TSI R

2. % f30=a IRy

3. % A Yo

4. % 3 Hicg-ANHA
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Question Number : 190 Question Id : SD38905926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did UK join European Union?
Options :

1. % 1946

2. % 1957

3.¥ 1973

4. % 1988

Question Number : 190 Question Id : 5038905926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T forey o R F e gam
Options :

1. % 1946

2. % 1957

3.¥ 1973

4. % 1988

Question Number : 191 Question Id : 5038905927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not correct regarding The United Nations Conference on the Human Environment (Stockholm Convention)?

Options :
1. ¥ The Convention prescribed targets for the reduction of emission levels in the case of six GHGs by the industrialised nations
2. % The UN Convention on Human Environment was held at Stockholm in June 1972.

3. % A manifesto was expressed in the form of an ethical code intended to govern and influence future action and programmes, both at the
national and international levels.

4. ® This resolution recommended the establishment of a 54-member Governing Council for Environmental Programmes.
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Question Number : 191 Question Id : SD38905927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ H-aRM A RN P GRT B oN.TA.5N b AT H IcoiA o TR | B! & oy deg Feiid fvu g
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Question Number : 192 Question Id : 5038905928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The fourth session of the Conference of the Parties of the UN Frame-work Convention on Climate Change (COP4) was held in which year?
Options :

1. # 1972

2. % 1986

3. % 1997

4. ¥ 1998

Question Number : 192 Question Id : 5038905928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIeaTg URac IR G 1Y ThHaD BH=a=T (1Y 4) B aall b GHICH DI 1T T fd qu STATford faar T um
Options :

1. % 1972

2. % 1986

3. % 1997

4. ¥ 1998
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Question Number : 193 Question Id : 5038905929 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true regarding Gandhi’s role in South Africa?

1. Gandhi arrived in South Africa in 1893.

2. Gandhi assumed the leadership of the Indians’ struggle for equality.

3. Gandhi had emerged as a symbol of liberation of oppressed peoples everywhere in the world and especially of those in Africa.

Options :

1. # Only 1 and 2
2. % Only 2 and 3
3. % Only 1 and 3
4.% 1,2and 3

Question Number : 193 Question Id : 5038905929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. TTiElY 1893 H GI&TUT 3{ThIehT Ugd |
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Options :

1. % PHad 1 3R 2
2. % HaA2 3R 3
3. % PHad | 3R 3
4.4 1,233

Question Number : 194 Question Id : 5038905930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding India after the Collapse of the USSR?
1. The new relationship with India was to be guided by “pragmatism and flexibility” and there was no hurry to devote much time to India.

2. Russian foreign minister Andrei Kozyrev, believed that Pakistan was a more valuable asset in fulfilling Russia’s immediate foreign policy and
security concerns.
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3. Dispute occured between the Russian space directorate Glavkosmos and the Government of India f¢r the purchase of cryogenic engines and
the related technology.

Options :

1. # Only 1 and 2
2. % Only 2 and 3
3. % Only 1 and 3
4.% 1,2and 3

Question Number : 194 Question Id : 5038905930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1 3R 2
2. % Had 2 3R 3
3. % Pad | 3R 3
4.4 1,2 3R 3

Question Number : 195 Question Id : 5038905931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is not correct regarding Asia-Pacific Economic Cooperation (APEC)?
Options :

1. # The 21 nation Asia Pacific Economic Cooperation (APEC) was formed in 1989.

2. ® It was an initiative of the Australian Prime Minister.

3. ¥ Headquarter of APEC was situated in Malasia.

4. ® The member-states were asked to intensify work on sustainable growth and to report on their progress.
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Question Number : 195 Question Id : 5038905931 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ry 3nfie IgaiT (APEC) & Iey H Hufafad & @ o 91 wuF 9l 181 82

Options :

1. % 1989 H 21 1Y TFRAT UM 3M1ffeb HANT (APEC) BT 73+ fobam 1T |

2. % Ug IieferTe YU T3l &1 T ugd i

3. ¥ APEC &1 GBATerd TalRE § fRyd 1|

4. % YISl B! Jad fasr TR HTH a5 HRA 3R 36! W IR RUid 3 & o sar my um|

Question Number : 196 Question Id : 5038905932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Headquarters of SAARC is situated in which country?
Options :

1. #® India

2. ¥ Nepal

3. % Bhutan

4. % Bangladesh

Question Number : 196 Question Id : 5038905932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 T eATerd fhy ox1 H fyd g2
Options :

1. ¥ HRd

2. ¢ AU

3. % Y

4. % SATGR

Question Number : 197 Question Id : 5038905933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Who among the following gave the applidation of General Systems Theory to the study of political system?

Options :

1. # Karl Mannheim
2. ® Charles Merriam
3. ¢ David Easton

4. ® George Catlin

Question Number : 197 Question Id : 5038905933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa § Q fee Iomifae orawT & 31 & fore Irar el Rigid (SFRe RewT @ikt o7 3ruanT faam
Options :

1. % Pl B-gIsH

2. % e ARTH

3. ¢ Sfdg s¥eA

4. % SiSf sefer

Question Number : 198 Question Id : 5038905934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following wrote the book 'Silent Springs'?
Options :

1. ¥ Rachel Carson

2. % Barry Commoner

3. % John Muir

4. % Medha Patkar

Question Number : 198 Question Id : 5038905934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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fraferied & @ fem wrgde B gede fort g2

Options :

1. ¢ 3T BT
2. % A BHAR
3. % S gR

4. % YT YICH

Question Number : 199 Question Id : 5038905935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries was not included during the formation of The Association of South East Asian Nations?
Options :

1. # Indonesia

2. ¥ Vietnam

3. ¥ Malaysia

4. ® Philippines

Question Number : 199 Question Id : 5038905935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 gd TRRIS 99 & 76 & SR Fafeiad & 4 o |1 =1 =i 781 um
Options :

1. % SSHRM@

2. ¢ fagdH

3. % TRl

4. % folidiy

Question Number : 200 Question Id : 5038905936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is moral relativity in the strict sense called?
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Options :
L. ¢ Ethical skepticism

2. % Ethical relativism
3. % Empirical fact

4. ® Empirical relativism

GET IT ON

Google Play

Question Number : 200 Question Id : 5038905936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T 1t H e IOl 1 1 Hed 6
Options :

1. ¢ 3fds deg (Ethical skepticism)

2. % 3fdew Ieare (Ethical relativism)

3. ® 3JHAS T (Empirical fact)

4, % fqHasg HTU&ATG (Empirical relativism)

Discipline6
Group Number : 11
Group Id : 503890103
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
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Section Id : 503890211
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Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890253
Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 5038905937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What type of theory agrees that there must exist some rule or law which enforces moral value?
Options :

1. % Ockham

2. % Epicurus

3. % Shaftesbury

4. ¥ Deontological

Question Number : 201 Question Id : 5038905937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o TR &1 RIGid 39 910 ¥ ¥eHd § [ Afdd Hed & AN &R ald $© (98 I ST HING 81+ d1fee?

Options :

1. % 3frag

2. % iRy

3. % QMUCHaRT

4.« SN

Question Number : 202 Question Id : 5038905938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

What concept is explicitly found in the concept of Autarxia Epicurus?
Options :

1. ¥ Right reason (Hobbes)

2. # Ethical Intuitionism

3. % Metaethics

4. ¥ Conscience

Question Number : 202 Question Id : 5038905938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SifeRfaqar Qﬁw (Autarxia Epicurus) P AGYRUT H DI Tt YR Y =7 @tﬂéGﬂT‘ﬁ %?
Options :

1. ¢ Uo! BRI (8le)

2. % Afi siazi-arg

3. % YA (Metaethics)

4. ® RTHT

Question Number : 203 Question Id : 5038905939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first World Conference on Human Rights was held in
Options :

1. ¥ Vienna

2. ¥ Teheran

3. % Geneva

4. ¥ Hague

Question Number : 203 Question Id : 5038905939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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HHAAISRT R TuH fa% THIe &1 SmRiTeH Hgen

QOptions
r

1. % fogmr
2. ¢ dexH
3. % foHar
4. % B

Question Number : 204 Question Id : 5038905940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"The International Decade for Human Rights Education" has been in force since ?
Options :

1. % 1993

2. %1994

3. % 1996

4. 1995

Question Number : 204 Question Id : 5038905940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HHATISR fR1& & Y SicRTPT axiep Hd ¥ AR 32
Options :

1. % 1993

2. % 1994

3. % 1996

4. ¥ 1995

Question Number : 205 Question Id : 5038905941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is credited to have coined the expression 'human rights' in his English translation of the French Declaration of The Rights of Man and the
Citizen (1789)?
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Options :
1 % Marv Wollstoncraft

2. % Eleanor Roosevelt
3. % Thomas Paine
4. ® Grindan McGregor

Question Number : 205 Question Id : 5038905941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T4 3R ARRS BRI ! BT SN0 (1789) & 304 SUSH Sfd1e H AHaNIGR fiaafad e &1 949 fod far Srar g2
Options :

1. % IR JIeReADIUT

2. % TR Folde

3. YA U

4. % T AHIIR

Question Number : 206 Question Id : 5038905942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not correct about the concept of Human rights?

1. The conceptualisation of human rights belongs to its western heritage whose philosophers, as a rule, trace the term to the classical Athenian
democracy and the Social influence on Greek’s jurisprudence.

2. The Classical Greeks view 'nature' as an "objective standard for the instruction of human social conduct" and insisted that natural laws can be
known through a systematic description of the behaviour which "ought to occur" in a society.

3. Politically, this only meant that not everybody in the city-state can have natural rights; actually, only the citizens and not others had access to
benefits of natural law.

Options :

1. ¥ Only 1

2. % Only 2 and 3
3. % Only 3

4. % Only 1 and 3

Question Number : 206 Question Id : 5038905942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g 3ifIBRI Bt YR & IR F Faferid & ¥ 19 91 Hy= I8t 181 32

1. AHATYSHRI &1 SaURUN 3®! Ui farrd ¥ J6fid §, fore aRife, te Faw & w0 8, IRdd 1aHa- didedd 8k e &
TR TR JIHISTS THTE & o 39 Ueg &1 Ual aIId & |

2. XA GATA! Tl Y AT AT SR & (G & [l 3= AT & €0 H G7d § 3R SR GdhR Hed & 19 WPHfdd S
D] AR & HAFRY faarur & H1egH ¥ SIHT S Yol § Sl JHTS | "84T e |

3. SIS U ¥, TYHT AAAd Had I8 U b WeR-Iwa # g [l & U Uipfaes iR 181 8) Uehd §; aRad H, Widhiad I &
YT T shad AN &1 ugd &, 7 fob gERI 1|

Options :

1. ¥ $ad |
2. % Had 2 3R 3
3. % $Had 3
4. % Had 1 3R 3

Question Number : 207 Question Id : 5038905943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who quoted this, “A Just society is that society in which ascending sense of reverence and descending sense of contempt is dissolved into the
creation of a compassionate society”?

Options :

1. ® Jawaharlal Nehru
2. ® Sardar Patel

3. % B. R. Ambedkar
4. ® Bhagat Singh

Question Number : 207 Question Id : 5038905943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tg forem Fel, <yl TS 98 B, s tRER I &1 St g3 HIaHT 3R S{UHH Pt Uedl g3 HIaHT fdd: Th H30 I HR YA
T Ao B

Options :
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Question Number : 208 Question Id : 5038905944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Initially the Universal Declaration of Human Rights contained how many Articles?
Options :

1. # 80 Articles

2. # 55 Articles

3. % 103 Articles

4. ¥ 30 Articles

Question Number : 208 Question Id : 5038905944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URY T A4 SIBRI B! Frayid g J fards 3rfedq 37
Options :

1. % 80

2. % 55

3. %103

4. v 30

Question Number : 209 Question Id : 5038905945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a basic characteristic of the South Asian regional state system?
Options :

1. ® India, by virtue of its geographic size and location, economic and industrial base and military strength occupies a pivotal position in the
region.
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2. % All the South Asian countries, inclufling India, have sought to use the extra regional powers’ abiity to influence to their advantage.

3_# Small countries like Nepal _Bhutan 1Bangladesh, Sri Lanka and Maldives are a part of South Asian regional state system

4. % There are 10 members in SAARC

Question Number : 209 Question Id : 5038905945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafad & 9 o130 gt a=ta g saaw a9 genyd fasivdr et 82

Options :

1. % YRA 3T HNTAd MHR SR R, 3w 3R S YR 3R T diehd & SHTYR R 39 & H Th Hgdy0l R @1 g |
2. % YRd wigd I <farr uRRmarg 2 A oo a1y & fore sifdafer &y ifemdl 1 uHIfdd S BT &Fdl BT SUART S S1 AT S 6|
3. % JUT, Y, SaresT, dicieT 3R ATl oiF Bie T aféir TRET &sa 3T Jumel! &1 fewar §

4. T IYg T 10 Yo §

Question Number : 210 Question Id : 5038905946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Tin Bigha Corridor is a strip of land belonging to India and which country?
Options :

1. ¥ China

2. % Nepal

3. # Bhutan

4. ¥ Bangladesh

Question Number : 210 Question Id : 5038905946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T PSR HRA 3R g 31 ¥ Hafid i 1 Ud Ugl 82
Options :

1. % 9

2. % AU
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Question Number : 211 Question Id : 5038905947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the threat of the working class in the first world?
Options :

1. ¥ Unemployment

2. % Underemployment

3. % Automation

4. % Exploitation

Question Number : 211 Question Id : 5038905947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faeRra <= & AoTgR a7l T W1 1 82
Options :

1. % SRISRI

2. % JERISAIR

3. ¥ T

4. % QU]

Question Number : 212 Question Id : 5038905948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who mobilized women in the Bodhgaya struggle for the land?
Options :

1. ¥ Sangarsh Vahini

2. % Dhansukh Giri

3. # Krishnadayal Giri
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4. % Medha Patkar

Question Number : 212 Question Id : 5038905948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST o fE o H Aigarsi @ fhy arse feba
Options :

1. ¢ Ty arfgl

2. % g9 R

3. % puredrd MR

4. % HYTUICH

Question Number : 213 Question Id : 5038905949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is another name for the Bodhgaya Math?
Options :

1. ¥ The Shankar Math

2. % The Rahul Math

3. % The Siddharth Math

4. % The Gopal Math

Question Number : 213 Question Id : 5038905949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST HS PT GIRT 1 &1 82
Options :

1. ¢ YHY HS

2. % Yqgd HS

3. % Rigri#7g

4. % TUIT HS
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Question Number : 214 Question Id : SD38905950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many kathas of land were given to the labourers of the Bodhgaya Math?
Options :

1. # 12 kathas

2. % 13 kathas

3. # 14 kathas

4. ¥ 15 kathas

Question Number : 214 Question Id : 5038905950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HS &b Tl Dl fobal g SHIA & 157
Options :

1. % 12%g

2. % 13%g

3. % 14

4. ¥ 15®%

Question Number : 215 Question Id : 5038905951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Article 168 of the Indian Constitution provides for which of the following?
Options :

1. # Duties of Council of Ministers

2. ® Powers of the Governor

3. ¢ Constitution of Legislature in States

4. ® Abolition or Creation of Legislative Councils in States

Question Number : 215 Question Id : 5038905951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

R WU &1 /e 168 FHafafad & § fegd fog urau™ & g2
Options :

1. % ARURue & S

2. % IoTUTd B Afadai

3. ¢ Id) H [AUTHSd T dfaem

4. % 91 7 fayr afkere! 1 @ a1 fFHfor

Question Number : 216 Question Id : 5038905952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The expansion of the legislative tasks entrusted to the legislative councils, and a progressive incorporation of “natives” into the legislative
machinery in Colonial India was made with the introduction of

Options :

1. % Indian Councils Act, 1861

2. # Morley-Minto Reforms of 1909

3. # Montague-Chemsford Reforms of 1919
4. ® Government of India Act 1935

Question Number : 216 Question Id : 5038905952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faem aRwe! &1 Iit MY faurd &l o1 fowdR, SR siufafRie YRa # faurh 6 & o FHarit &1 wifa=iia Jeme &
QR & 1Y fobdn 713 -

Options :

1. ¢ YR URye Hf&f—H, 1861

2. % 1909 & HATq-fHl GUR

3. % 1919 & AT IRIHIS IR

4, % YRd WHR HAIH 1935
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Question Number : 217 Question Id : 5038905953 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The British rule created a modern policy by creating a Police Act in which year?
Options :

1. % 1857

2. % 1833

3. % 1919

4. ¥ 1861

Question Number : 217 Question Id : 5038905953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofe=T = = gfer s sH1HR Td Sy ifd &1 76+ food v d foeam
Options :

1. % 1857

2. %1833

3. % 1919

4. ¥ 1861

Question Number : 218 Question Id : 5038905954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements with regard to Judicial Review:

A. Judicial Review means the power of the judiciary to pronounce upon the Constitutional validity of the acts of public authorities, both
executive and legislature.

B. Judicial Review is mentioned under Article 32 of the Indian Constitution.

C. Judicial review in India is an integral part of the Constitution and constitutes the ‘basic structure’ of the Constitution.

D. The Supreme Court’s power of judicial review extends to Constitutional Amendments.

Which of these is/are incorrect statement(s)?
Options :

1. % Band D

2. % Aand C
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Question Number : 218 Question Id : 5038905954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e & Gy H Fufaied sy iR fdaR &9

QT.%TWW?[&HW 31 § ruferest @t wrduTierest SR et g & Jrasi-ds UIfeUN & dedl &1 YU dudl R fufg o &t
|

B. YR TfAuM & 3rwse 32 & dgd 1 JHief BT Jeerd fhal T g |

C. HRd & =1 giter TfAem &1 T e 311 8 3R AL Pt 'Ha TReT &1 13 Bl g

D. G BIE BT =fiie Teften o wfda Gaenfe T db el 83 o

f3T 7T S O 9 Teld HUH gAY/ Bl b1 g
Options :

1. % B3R D

2. % A3MRC

3. ¥ Had B

4. % $Had D

Question Number : 219 Question Id : 5038905955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following commissions was set up by the central government to examine the central-state relationship on various portfolios and
suggest changes within the framework of Constitution of India?

Options :

1. # States Reorganization Commission
2. ¥ Sarkaria Commission

3. # Rajamannar Commission

4. # National Commission to review the working of the Constitution

Question Number : 219 Question Id : 5038905955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fraferiad o & & 91 AT fafis faum IR FHe-3ey Yee o oid ®34 3R YR & Ifau™ & g & Hiar seard &1 ggma ¢ & forg
$Hg PR gRT VI foar 1 U

Options :

1. % 0 TG AN

2. ¢ TRBINAT AT

3. % IJOHAR ST

4. % GiAUT b BIHDTS DI FHI B B fTT AP M

Question Number : 220 Question Id : 5038905956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given below are two statements, one labeled as Assertion (A) and other as Reason (R):
Select the correct answer from the code given below:

Assertion (A): No unit possesses the right to secede and it is the sole prerogative of the union of India to form the states by way of division,
merger and alteration of the, existing internal boundaries of India.

Reason (R): The Article 1 of the Indian Constitution declares India as the Union of States, thereby implying the indestructibleness of the union
and the unity of India.

Options :

1. ¥ Both (A) and (R) are true and (R) is the correct explanation of (A).

2. % Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3. #® (A)is true, but (R) is false.

4. ® (A)is false, but (R) is true.

Question Number : 220 Question Id : 5038905956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ia 1 FYT RRU T B, T T 3IHYT (A) 3R GIR I HRUT (R) HET T &
2 feu T B I 98 IR BT TG PR

FHYT (A): Tt 1} IHTS B 31erT 811 &1 SHABR T8l § IR URA D1 Hisler HTdRe Jrsft & faureH, faaa Sk ufvads & mem
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T4t T AT HRAT HRA U9 &1 T HE fARwiIeR B

HRU] (R): YR HfAU BT 3Twse | HR 1 ISl & 9 & =0 H Giftd HRl &, s ¥9 3

fAraar g

Options :

1. ¥ (A) 3R (R) GHFI I 8 3R (R) (A) D! Jg! T & |

2. % (A) 3R (R) T I &, AfFA (R) (A) P Tg! ARSI a1 B |
3. % (A) 94 8, Afdh (R) T B |

4. % (A)TAd g, Afpd (R) T &I
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Sub-Section Id : 503890254
Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 5038905957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The theory of was an important theme in Locke’s political philosophy.
Options :

1. ® race

2. % sex

3. ¥ property

4. ® politics

Question Number : 221 Question Id : 5038905957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Al & ISt a2 A o1 Rigid U Agayqul faw o1
Options :

1. % 99

2. % feqm

3. ¢ HUfd

4. % eI

Question Number : 222 Question Id : 5038905958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The execution of brought about a breach in the monarchial tradition.
Options :

1. # Charles II

2. ¥ Charles I

3. % James II

4. ® James I
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Question Number : 222 Question Id : 5138905958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

& UIUIGUS & A U Y JSIRATE! TR &1 Jeeio g3l

Options :

1. % I 11
2. ¢ A 1
3. % ORI
4. % S

Question Number : 223 Question Id : 5038905959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Le Devin du village (The Village Soothsayer) was performed for the first time in Paris on
Options :

1. % 1754

2.9 1753

3. % 1760

4. % 1751

Question Number : 223 Question Id : 5038905959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Sfa7 g faaw (3 faaist YUIRR) o1 UeRi ugdll ar Uik o & foam T o |
Options :

1. % 1754

2.9 1753

3. % 1760

4. ® 1751
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Question Number : 224 Question Id : 5038905960 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the Rousseau distinguished between the state of nature and civil society.
Options :

1. ® Emile

2. ¥ Discourses

3. # Politics

4. ® QOedipus

Question Number : 224 Question Id : 5038905960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& & A Upia @ R R AN THT! & s $iaR forar |
Options :
1. % uffre
2. ¢ Sy
3. % gifcfced
4. % 3fEUg

Question Number : 225 Question Id : 5038905961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

English translations of Beccaria’s Essays on crimes and punishment was published in:
Options :

1. ¥ 1764

2. % 1765

3. % 1785

4. % 1763

Question Number : 225 Question Id : 5038905961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25

RIS SR TS UR dos1aT & fHaiel b1 St srare forg oo & yestfRid gan

Options :
1. ¥ 1764
2. % 1765
3. % 1785
4. % 1763

Question Number : 226 Question Id : 5038905962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The theory of Utilitarianism is based on which of the following?
Options :

1. # Theory of Free Economy

2. % Principle of Morals

3. % Theory of hedonism

4. % Economic theory of Classical Liberalism

Question Number : 226 Question Id : 5038905962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SuAaTaTE o1 Rigid Fafarad & 9 fora w sruid 82
Options :

1. ® god fcqawy1 &1 Rigid

2. % Afddmdl &1 Rigid

3. ¢ gEde &1 gl

4. % TG IGRATG B 3Mffep Rigiet

Question Number : 227 Question Id : 5038905963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following about Dayanand Saraswati:
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1. He asserted that the empirical world wgs no illusion but had an independent and objective existencd.

2. According to him, the British victory in India was largely due to 'our own failings'.
3. He was the founder of Arya Samaj.

Options :

1. % Only 1 and 2
2. % Only2and 3
3. % Only 1 and 3
4.%1,2and 3

Question Number : 227 Question Id : 5038905963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG Tl & IR H Faferied w faar &%

1. 3B SR SR BT [ SHI g1 g YH -T51 5, dicth 3BT Udh ¥Wdid 3R I¢ Y0 i g |
2. 39 IR, URd H SISl D1 Siid HIH! §g dob THRY U [dmedrsil & HRoT |

3. 9 3T THS & TR Y|

Options :

1. % Hhad 1 3R 2
2. % Had 2 3R 3
3. % $Had 1 3R 3
4.¢1,23R3

Question Number : 228 Question Id : 5038905964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who gave the systematic theory of bureaucracy?
Options :

1. ¥ Max Weber

2. ® Jeremy Bentham

3. % Charles Wright Mills

4. ® Emile Durkheim
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38905964 Question Type : MCQ Option Shuffling : Yes

n

O £+3 AL I ANQ_ £3 14
\{ucauuu INUIIYUTIL « 4«0 \{ucauuu IU .
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tep el o1 afRyd fRigia frem feam
Options :

|, ¢ Hag dR

2. % ST §YH

3. % I Wge e

4. % U@ gdt\

Question Number : 229 Question Id : 5038905965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M.K. Gandhi was the Chairman of the All-Parties Conference in 1925. Which of the following is not one of the demands made by the sub-
committee set up by the said Conference?

Options :

1. # the rights to liberty, security of dwelling and property

2. % freedom of conscience and to profess and practise religion

3. # to assemble peacefully and without arms and to form associations or unions

4. ¥ laws against atrocities on backward class people

Question Number : 229 Question Id : 5038905965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH.&. e 1925 T Gdgard e & Sieag 3| afaRad o O $1H-91 Iad 9 e gRT13d SU-HIAfd §RT &1 73 A & 9 U 78] 62
Options :

1. % AT, AN 3R T B! YReM & BRI

2. % JfAHI0T 3R 4 D A 3R NG HA DI WAl

3. % Tifdgdd 3R foT SRART & 3HgT 81T IR IY FMT

4. ¢ TUBS T & ANl IR SIATARI & RIATH BT
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Question Number : 230 Question Id : SD38905966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The welfare state operates within the framework of which of the following?
Options :

1. ¥ Free Market Economy

2. # Closed Economy

3. ¥ Both Free market and Closed Economy

4. % Neither Free market and Closed Economy

Question Number : 230 Question Id : 5038905966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HAHRI o FEfeiRyd ¥ | fbads o & 1fidk a1 R
Options :

1. ¢ o SR e

2. % dg pfeaR

3. % Tod IR 3R §g SriaRyT g1

4. % 7 VIR 3R 7 9 Srfegaw

Question Number : 231 Question Id : 5038905967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year the Congress Socialist Party was formed within the Congress and Gandhi resigned from the Congress citing it as one of the reasons
and alleging Jawaharlal’s open sympathy for the group?

Options :
1. % 1933
2.9 1934
3. % 1935
4. % 1936
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Question Number : 231 Question Id : 5038905967 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg T S & iR SO T=ifere urdf &1 e+ fasa T 3R Tieh 7 38 U RO FdId U 3R THE & forT STaexard o geil
FETYH[A BT SR T §U B 9§ S&AHT ¢ faam

Options :

1. % 1933

2. ¥ 1934

3. % 1935

4. % 1936

Question Number : 232 Question Id : 5038905968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under whose leadership in 1940 a group of industrialists prepared what is known as the Bombay Plan which envisaged the doubling of per capita
income and trebling of national income in 15 years?

Options :

1. ¥ M.N. Roy
2. % K.T. Shah
3. ¥ G.D. Birla
4. ® Naval Tata

Question Number : 232 Question Id : 5038905968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forgds Aq@ ® 1940 H IJEFTURTT & Toh THg - a3 Aol R &1, [T Ul i S Bl GRIAT R 3R 15 a8l § IPTT 31 B Rk
B DI GRS DI T3 2

Options :

1. % QAT

2. % & 21218

3. ¢ Sfl 8. fagan

4. ® 9dc CICl
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Question Number : 233 Question Id : SD38905969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Who headed the sub-committee on land reform of the National Planning Committee of the Congress laid down three stages of land reform:
abolition of zamindari and other intermediary rights, grant of tenancy right to the actual cultivator and ceiling on land holding?

Options :

1. ¥ J.C. Kumarappa

2. # D.R. Gadgil

3. # A.D. Gorwala

4. ® Sardar Vallabhbhai Patel

Question Number : 233 Question Id : 5038905969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B BT AP o1 G BT A YR TR IU-HHAT BT g fbe T, yff GUR & i =aR01 FeiRa fbu: Sffart ok s ey
STYBHRT BT ST, IRATID B B fBRRER] BT SABR T SR YA Sid DT 1

Options :

1. ¢ S SR

2. % B3R, MM

3. % UL IRard

4. % IR IEIHHTS Jed

Question Number : 234 Question Id : 5038905970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following model envisaged that it would lead to overall development of the country just after the Independence of India?
Options :

1. ¥ Nehru-Mahalanobis model of development

2. # Nehru-Gandhi model of development

3. ® Russian Model of Development

4. ® Gandhian Model of Developement
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Question Number : 234 Question Id : SD38905970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ fog aisd ot uReea B fs a8 YR &1 Wdadl & 31 a1¢ S & I fAHM P 3R & S
Options :

1. ¢ fdepT8 &1 Fg-HeaIod Hisd

2. % BT BT Ag=-TTie Ared

3. % [dHN &1 &4 Hisd

4. % fgorg &1 Midtare! Alea

Question Number : 235 Question Id : 5038905971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following defines Sovereignty as “the supreme power over citizens and subjects unrestrained by law”?
Options :

1. ¥ Bodin

2. % Grotius

3. % Willoughly

4. ® Hinsley

Question Number : 235 Question Id : 5038905971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad 7 3 o1 FuYdl o1 =IRST 3R I gR1 SRR fawal R Jafe Afek & =0 & uRuitd Hdi 2
Options :

1. ¢ Sife

2. % 7ifegy

3. % fadireft

4. % TGOt
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Question Number : 236 Question Id : 5038905972 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following propounded the legal view, also called the monistic view or traditional view of sovereignty?
Options :

1. # Jean Bodin

2. ¥ John Austin

3. % Michel Faucault

4. ® David Held

Question Number : 236 Question Id : 5038905972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 foraa S ePiur & gfaafed fasan, i sigdarct <o a1 Suydl 1 URURS eBH 0T Hi gl ST 52

Options :

Question Number : 237 Question Id : 5038905973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Bhura baal saaf karo” slogan against upper class was given by
Options :

1. ¥ Laloo Yadav

2. # Yogendra Yadav

3. ¥ Mayawati

4. # B R Ambedkar

Question Number : 237 Question Id : 5038905973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
I Il & faveg "1 S W1 SR Sl AR fohres gRT i am 4t

Options :

1. ¥ QI ATEd

2. % ONIg Igd

3. % T

4. % d 3R ATSH

Question Number : 238 Question Id : 5038905974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the reason why no institutional structure and procedures are full proof to meet all situations?

1. Sometimes they are not able to meet the changing situation and may hinder in new circumstances rather than help in attaining the objectives
for which they have been created.

2. Any institution cannot be perfect to meet all eventualities.

3. Institutions may sometimes bog down to procedures and lose sight of the main objectives.

Options :

1. % Only 1 and 2
2. % Only2and 3
3. % Only 1 and 3
4.%1,2and3

Question Number : 238 Question Id : 5038905974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafIRed & I &9 91 SR g b Bis o TRIFTT AaT 3R fshans waft fRufaat &1 g1 e & forg gof vmor 76t 82
1. pH-HH 3§ Fead! TRIRRUITTTT BT I 3 & J&m T8l 81d & MR 3 Ie=01 & U B H Hag B & Soiid =18 YRRl & are

STd Iohd ¢ oo ol 3 ST T 8|
2. 1s i T quft gersii 1 1 A & forg ufvguf 8t 81 gt 2 |
3. SRTG it ufthanslt & g St § iR e I5= &t 3Few! R adt o |

Options :
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1. % Had 1 3R 2
% a2 33

!‘Q

% Had 1 3R 3
4.9 1,2 3R 3

(8]

Question Number : 239 Question Id : 5038905975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true regarding Navnirman movement in Gujarat?
Options :

1. #® It was organised in 1966.

2. ¥ It was based on the issue of Political corruption.

3. # It was based on the issue of War against neighbouring countries.

4. ® It was based on the issue of economic slowdown in Gujarat.

Question Number : 239 Question Id : 5038905975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSRId A sigiad & Iy A Fufifia ¥ s I aa g?
Options :

1. % T8 1966 H SfTaiford foear mam ol

2. ¥ g SHITdD YTER & g U TR 47|

3. % gg USI <=M o NI g b He, UR SATUTRG 7|

4. % gg o1 H 3id Tl o e, IR ST ol

Question Number : 240 Question Id : 5038905976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Naxalbari movement was started from which of the following state in India?
Options :

1. ® QOdisha
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2. #® Punjab
3 % Tharkhand

4. ¥ West Bengal

Question Number : 240 Question Id : 5038905976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aqqare! gl HRd & HafaRad J § fa g 9 = goi U

Options :

1. % affe=m

2. % U

3. % RIS

4. UiEH SIS
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Group Number : 13

Group Id : 503890105

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline8

Section Id : 503890213

Section Number : 1

Section type : Online
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Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890255
Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 5038905977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Book “In the Name of Democracy” was written by
Options :

1. # Nitin Singhania

2. % B.V.Rao

3. % Bipin Chandra

4. % Ramchandra Guha

Question Number : 241 Question Id : 5038905977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T "3 ¢ A9 3Tt SHIpE fhad gry ford) 718 ot
Options :

1. % fAfae Rt

2. % §tdl @

3. ¢ fafU 9g

4. % G BT

Question Number : 242 Question Id : 5038905978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

Which of the following are the crucial sulpmission of mobilisation theory of nation formation?
I. Conversion of community into a moverpent is a process of mobilisation by elite, intellengstia and lepders.

II. In order to provide further dynamics and cohesion to community consciousness, identity is reinvented and relocated in the contextual present.
Options :

1. % Only I is correct

2. % Only II is correct

3. % Both I and II are correct

4. ® Neither I nor II are correct.

Question Number : 242 Question Id : 5038905978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 5 A & 1y M & Amect Rigid o1 Agayul TRl 8?2

. TG &1 U Sfigiad | uiad- Sifiera v, gigeiifaat sik Aarsit gR1 aed! & Ue ufhan g

1. G -1 B 3R SHfA Tia=iierdr SR ArHoRg UeH &+ & [AY, Iga &1 JH: SfashR faran Sira g iR Wrifies aaae §
RIFIARA fBar A g |

Options :

1. % $HId 1 T8l 8

2. % Had 1 T8l §

3. 13RI TE

4. % AR 1 TE B

Question Number : 243 Question Id : 5038905979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a type of Regionalism in India?
Options :

1. #® Supra—State regionalism

2. ¥ Linguistic regionalism

3. # Inter-State regionalism

4. ® Intra-State regionalism
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Question Number : 243 Question Id : 5038905979 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 ®H YRd | 8Fd1e 31 TP TSR T8l 62
Options :

1. % YT &g

2. ¥ YINTS &7dTa

3. % RIS &Fd1G (Inter-State regionalism)

4. % JfARIYUIT &FdTG (Intra-State regionalism)

Question Number : 244 Question Id : 5038905980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair is not correctly matched?
Options :

1. # Plato - (428 - 327 B.C.)

2. % Aristotle - (384-322 B.C.)

3. ¢ Cicero - (1060-980 B.C.)

4. ® Machiavelli - (1469-1527 A.D.)

Question Number : 244 Question Id : 5038905980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaied & @ &9 91 g W Jet gaferd T8 62
Options :

1. ® Wal - (428 <327 3.9))

2. % 3R] - (384-322 AT YY)

3. ¢ RIRY - (1060-980 .9

4. % Dfpardel - (1469-1527 %)

Question Number : 245 Question Id : 5038905981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not related to the Classical pluralist perspective (Truman, Dahl) of the state

Options :

1. ® The state is a place of group conflict and, therefore, is highly responsive to group pressures.
2. ¥ Power is neither observable nor dispersed.

3. #® Groups, with varying resources, exist in their relations of continual conflicts.

4. ® Power is an observable and dispersed phenomenon.

Question Number : 245 Question Id : 5038905981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifed 3 9 o1 I & W6 JgadTd) uRUed (SHA, ST8d) ¥ Fefid T8 82
Options :

1. % 5T GHE JUY &1 R § 3R 3T, THg & a1d] & Ufd e ufafspareia g1
2. ¢ Yfad T ¢E- g § SR A8 [T g3 8

3. % faftrs SareET are 9E, FRaR Jus! & 3o Tl # Hivie 8id o |

4. % G TP TAH-1 3R foe g8 g1 |

Question Number : 246 Question Id : 5038905982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Indian states created in 1960 were
Options :

1. ¥ Maharashtra and Gujarat

2. ® Orissa and west bengal

3. # Rajasthan and Gujarat

4. ® Punjab and Haryana

Question Number : 246 Question Id : 5038905982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1960 H §HTY T YR Y Q|

Options :

1. ¢ HBRIY 3R ORI

2. % IS 3IR UfEH §Te
3. % ORI 3R ToRT|
4. % UoTTe SR g

Question Number : 247 Question Id : 5038905983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India signed and ratified the 1997 Kyoto protocol in?
Options :

1. % July 2002

2. ¥ August 2002

3. # September 2002

4. % QOctober 2002

Question Number : 247 Question Id : 5038905983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA A 1997 & aIe] Uelbld IR gxdieR U 3R 39 TLNferd & faar

Options :

1. ® T 2002

2. ¥ 3T 2002
3. % fYdeR 2002
4, % ISR 2002

Question Number : 248 Question Id : 5038905984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The era of coalition government began in India in?
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Options :
1% 1971

2. % 2004
3.9 1989
4. % 1967

Question Number : 248 Question Id : 5038905984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
URA B T3 IRBR 1 T Hdl Y= g3
Options :

1. % 1971

2. % 2004

3. ¥ 1989

4. % 1967

Question Number : 249 Question Id : 5038905985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which kind of demands were raised by the Bharatiya Kisan Union in the early 1990s?
Options :

1. # political demands

2. ® gocial demands

3. # cultural demands

4. ¥ economic demands

Question Number : 249 Question Id : 5038905985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1990 & GRS &1 Y[EHTT & HRATT [h 6 gRI v ae &1 Al I818 152
Options :

1. % JoHITde A
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2. % graTfole |7

T
Jd. “lw’l\lq’ AR |

4. « 31fp AT

Question Number : 250 Question Id : 5038905986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why was the “First Gulf war” called the video game war?
Options :

1. # Use of military in large number

2. # Use of mass destructions weapons

3. ¥ widespread television coverage

4. # Use of Technology

Question Number : 250 Question Id : 5038905986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"I TSl g DI difedl 0 g | Hgl T
Options :

1. % gao! W H 1 T STIRT

2. % g 411 & BRI &1 T

3. ¢ AP TAlfdo Havel

4. % YINMD BT IUTGRT

Question Number : 251 Question Id : 5038905987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The United States was founded in which year?
Options :

1. % 1774

2. ¥ 1776
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3. % 1778
4_#% 17820

Question Number : 251 Question Id : 5038905987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ggad T SARDT B RITAT fhd 9 g3 o
Options :

1. ® 1774

2.9 1776

3. %1778

4. % 1780

Question Number : 252 Question Id : 5038905988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was LTTE vanquished?

Options :

1. % 2006

2. % 2007

3. % 2008

4. % 2009

Question Number : 252 Question Id : 5038905988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & .E1S Bl e W fobar T 12
Options :

1. % 2006

2. % 2007

3. % 2008

4. % 2009
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038905989 Question Type : MCQ Option Shuffling : Yes

Orientation : Verti.cal

Correct Marks : 1 Wrong Marks : 0.25
What is the necessary normal code for conducting the business of the state called?
Options :

1. # Ordinance

2. # Convention

3. ¥ Constitution

4. ® Treaty

Question Number : 253 Question Id : 5038905989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & BT b I & T Teh SIS ITHIR Hle T hedldl 22
Options :

1. % TR
2. % gHTH
3. ¢ Tfayu™
4. % gAY

Question Number : 254 Question Id : 5038905990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which conference marked the zenith of India’s engagement with the newly Independent Asian and African nations?
Options :

1. ¥ Bandung conference

2. ® Egyptian conference

3. ® Malaysian conference

4. ® Singapore conference
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Question Number : 254 Question Id : 5038905990 Question Type : MCQ Option Shuffling : Yes [s Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o THYE 7 U Tads RIS SR 3fWhie! =N & 1Y YR & Ja1d & R &I fafgd fawam
Options :

1. ¢ ST T

2. % g o1 g

3. % AARMTE gHad

4. % QR q@eH

Question Number : 255 Question Id : 5038905991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some words were added to the Preamble of the Constitution by the amendment.
Options :

1. # 38th

2. ¥ 42nd

3. #® 36th

4. ® 44th

Question Number : 255 Question Id : 5038905991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BICRIE AR ESICRIE R E R MY gRT STs 7T Y|
Options :

1. % 384

2. 424

3. % 36d

4. % 44d

Question Number : 256 Question Id : 5038905992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Right against Exploitation has been mentioned in which article of the Constitution?

Options :

1. % 25-26
2.9 2324
3. % 2528
4. % 19-22

Question Number : 256 Question Id : 5038905992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N1 & FIATE SHfAIBR BT Icera WU & fobg srgede o fpar mar g2
Options :

1. ® 25-26

2.9 2324

3. % 2528

4. % 19-22

Question Number : 257 Question Id : 5038905993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many articles are there in the Japanese constitution?
Options :

1. #® 102 articles

2. ¥ 103 articles

3. % 101 articles

4. ® 105 articles

Question Number : 257 Question Id : 5038905993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STt Hfae & fhda sr=e &
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Options :

1 8 100 ATheT

j AV |\5'u~(

2. ¥ 103 3I®G
3. % 101 3J®Q
4. % 105 TG

Question Number : 258 Question Id : 5038905994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The President can be removed from office before the expiry of his/her normal term. However, this is possible only on the recommendation of:
Options :

1. # The Supreme Court

2. ¥ The two houses of parliament

3. # The Vice President

4. # The Prime Minister

Question Number : 258 Question Id : 5038905994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIPYTd Bl b AT BThIel B! FHIG § Usel Ue Gl Sl Hebell § | Bleliich, U8 bl &1 RIIR R g1 ¥Ha §

Options :

1. % ot gy

2. ¢ GG & gHI T
3. % IWRIyufd

4, % QYHHA

Question Number : 259 Question Id : 5038905995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Union Executive powers are vested in whom?
Options :
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1. ¥ Governor
7 & Pregident

3. ¥ Prime Minister
4. ® Chief Minister

Question Number : 259 Question Id : 5038905995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T P prfuTferesT fat fored fAfgd 82
Options :

1. ® qsgUred

2. ¢ gufd

3. % Y-

4, % QEUAT

Question Number : 260 Question Id : 5038905996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the President who raised the issue of president’s work and powers in the Indian Political system during one of his speech?
Options :

1. ¥ Dr. Rajendra Prasad

2. % K.R. Narayanan

3. # Pratibha Devi Singh Patil

4. ¥ Abdul Kalam Azad

Question Number : 260 Question Id : 5038905996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I AFUT BT ATH TS g1 31U T HINUT b GRT HRT ISt Sae H IFUfd & HTH IR Xfaadl 1 Hel IS1T?

Options :
1. ¢ Sl g8
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Question Number : 261 Question Id : 5038905997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Who wanted a secular state to be one that|“protects all religions, but does not favour one at the expenge of others and does not itself adopt any

religion as the state religion”?
Options :

1. ¥ Mahatma Gandhi

2. ¥ Jawaharlal Nehru

3. % Sir Syed Ahmed Khan

4. % Maulana Abul Kalam Azad

Question Number : 261 Question Id : 5038905997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRad # 3 I T yifFRue Iy a5 A S a4 3T GWTed B S YTl BT HiHd W el T 4 Bt RWBERT 9 B, 3R Qg
forft e b1 ITSUYH P AR WHR T Y2

Options :

1. % T el

2. ¢ JaER A1d g%

3. % W TG Mg @H

4. % TG 3G HTH TS

Question Number : 262 Question Id : 5038905998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following books is not written by Plato?
Options :

1. # The Symposium

2. % Republic

3. % Apology

4. ¥ Passions of the Soul

Question Number : 262 Question Id : 5038905998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
frafoiad & @ o1 ¥ gide el gRI A} fordt 18 32

Options :

1. % g Ryiforgm

2. % Rufsttd

3. % QOdrSh

4.« U= 316 g 1A

Question Number : 263 Question Id : 5038905999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following countries did Ken Saro-Wiwa lead a non-violent struggle?
Options :

1. ¥ Nigeria

2. % Madagascar

3. # Mozambique

4. ® South Africa

Question Number : 263 Question Id : 5038905999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PR 3 g 231 8 & W)-fa1 3 e e Gad o1 ge b o
Options :

1. ¢ et

2. % HSMRDR

3. % HED

4. % SfRqr 3rplepT

Question Number : 264 Question Id : 5038906000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Who had identified five kinds of inequalifies that need to be fought against simultaneously: inequality|between man and woman, inequality based
on skin colour, caste-based inequality, colonial rule of some countries over others, and, of course, ecopomic inequality?

Options :

1. ® Jayaprakash Narayan
2. % Narendra Deva

3. ¥ Ram Manohar Lohia
4. % Aruna Asaf Ali

Question Number : 264 Question Id : 5038906000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore Ul aRe &1 ST &1 Uga &1, o RIATh U 1 A1 GRT — Tell-J3N SR, IHS! & W1 UR SYTRT SRH,
ST SRAHHT, $© SR 61 39 WR AR A SR Feies snfdfe sraamarn

Options :

1. ® SOYHIR AR
2. % Rgdd

3. ¢ H AR difgd
4. % 3{BUM 3P 3Hait

Question Number : 265 Question Id : 5038906001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. # K.N. Raj, a young economist involved in drafting the First Five Year plan, argued that India should ‘hasten slowly’ for the first two decades
2. % The Second FYP stressed on heavy industries.

3. % For the second FYP, ‘socialist pattern of society’ was its goal

4. ¥ The rise in the levels of people's savings rose to spectacular levels during the First FYP

Question Number : 265 Question Id : 5038906001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 266 Question Id : 5038906002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following is the author of 'Economy of Permeance'?
Options :

1. # Amartya Sen

2. ¥ J.C. Kumarappa

3. % B.R. Ambedkar

4. ® Jawaharlal Nehru

Question Number : 266 Question Id : 5038906002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifed & 9 B gHHH! 3t TH~ & e g2
Options :

1. % AT I

2. ¢ .31 AR

3. % ol 3R ISHhR

4. % SATER AT A8

Question Number : 267 Question Id : 5038906003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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The impeachment proceedings were mad¢ against Former US President Nixon in

Options :

1. ¥ 1974
2. % 1985
3. % 1971
4. % 1973

Question Number : 267 Question Id : 5038906003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7d SR Ipufd Faed & fees Je1ianT &1 Hriare! EEA KRR
Options :

1. ¥ 1974

2. % 1985

3. % 1971

4. % 1973

Question Number : 268 Question Id : 5038906004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The House of Commons is the chamber of the British Parliament.
1. Upper
2. Lower

Options :

1. % Only 1

2. ¥ Only 2

3. % Both 1 and 2
4. ® Neither 1 nor 2

Question Number : 268 Question Id : 5038906004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $ad |

2. ¥ Had 2

3. % 1 3R 2N

4. % A1 3RAE 2

Question Number : 269 Question Id : 5038906005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Duma was produced with a pro-government majority in the election of
Options :

1. ¥ 1999

2. % 2000

3. % 2001

4. % 2002

Question Number : 269 Question Id : 5038906005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIHT DI & A9 | WDHR GHAS IgHd b 1Y =T a1 7137 |
Options :

1. ¥ 1999

2. % 2000

3. % 2001

4. % 2002

Question Number : 270 Question Id : 5038906006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Which of the following is not an essentiall element of state?

Options :

1. # Population
2. % Land
3. ¥ Government

4. ¥ Resources

Question Number : 270 Question Id : 5038906006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafad & & HH-97 I B1 SHHarf a8l 82
Options :

1. % 3TaTal

2. % U

3. # WMDPR

4. ¥ 1Y

Question Number : 271 Question Id : 5038906007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theory of sovereignty has been clearly described by John Austin?
Options :

1. # Political

2. ® Defacto

3. ¥ Legal

4. ® Popular

Question Number : 271 Question Id : 5038906007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1% J[SHIdd

2. % gRAfd®

3. ¢ BT
4. ® AHOT

Question Number : 272 Question Id : 5038906008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to Rousseau, sovereign is
Options :

1. #® Specific wish

2. % Public wish

3. % Imaginary wish

4. ® King's Wish

Question Number : 272 Question Id : 5038906008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=l & TR TIY gl
Options :

1. ® fafry 31

2. ¥ S B 3BT

3. % PHIeUfTeh 331

4. % ST DI TT

Question Number : 273 Question Id : 5038906009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has said, “State is such an organization which cannot be called contemporary to society’?
Options :
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1. ¥ Macbeir
) # 1 agki

3. ¥ Austin

4. % Rousseau

Question Number : 273 Question Id : 5038906009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fepe 8T &, "]Tod Teb U WG & SR HHIST T THDTA A 761 el o Fehal 82
Options :

1. ¢ UHfoR
2. % ARDI
3. % 3Rk
4. % T

Question Number : 274 Question Id : 5038906010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who have contributed to the criticism of human rights?
Options :

1. # Capitalist

2. % Communists

3. ¥ Marxist

4. ® Liberals

Question Number : 274 Question Id : 5038906010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fpam TATRIBRY B STaaT & GrTeH fear 32

Options :

1. ® Ysitardl
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2. % DA
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4, % JgRaArd!

Question Number : 275 Question Id : 5038906011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When Communist Party of India got divided?
Options :

1. #® 1965

2. ¥ 1964

3. % 1968

4. % 1962

Question Number : 275 Question Id : 5038906011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR SRy aréf &1 fauTsi e gam
Options :

1. #® 1965

2. ¥ 1964

3. % 1968

4. % 1962

Question Number : 276 Question Id : 5038906012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has said, “If we are to bring about a revolution of ideas we have first to hold up before us an ideal which will galvanise our whole life. That
ideal is freedom.”?

Options :
1. # Bhagat Singh
2. % Chandrashekhar Azad
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3. ¥ Netaji Subhash Chandra Bose
4_% Rabindranath Tngan

Question Number : 276 Question Id : 5038906012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % yirq g

2. % YEIRAX 3G

3. ¢ SISl GUN 9% 919

4. % AdgATy TR

Question Number : 277 Question Id : 5038906013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many subjects are there in Union List?
Options :

1. % 98

2. % 99

3.4 97

4. % 102

Question Number : 277 Question Id : 5038906013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Iy gl # b fiwg g 82

Options :

1. % 98

2. % 99
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3. 97
4_% 102

Question Number : 278 Question Id : 5038906014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following wrote the book Citizenship and Social Class?
Options :

1. ¥ T.H. Marshall

2. % David Held

3. ® Harold Laski

4. ® George Lucas

Question Number : 278 Question Id : 5038906014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferfad # @ fga RS Ts were s g ferdl?
Options :

1. v & w3 aia

2. % Sfds 3w

3. % gRICS DI

4. ® ol g

Question Number : 279 Question Id : 5038906015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of Directive Principles, in which year Legal Services Authorities Act, was passed by parliament?
Options :

1. ® Year 1986

2. % Year 1976

3. ¥ Year 1987
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4. ® Year 1988

Question Number : 279 Question Id : 5038906015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 99 1986

2. % 98 1976

3. ¥ dY 1987

4. % Y 1988

Question Number : 280 Question Id : 5038906016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of the book “On Liberty”?
Options :

1. ¥ ]S Mill

2. % Adam Smith

3. # Jeremy Bentham

4. % David Hume

Question Number : 280 Question Id : 5038906016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
377 ol g & TR P 82
Options :

1. ¢ S TH fid

2. % TeH EY

3. % SRH SR

4. % SfaeggH
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Question Number : 281 Question Id : 5038906017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A teacher should always inculcate the concept of interactive learning among his students for making a ready person out of him. The idea of

Questioning in the class-room
Options :
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1. # Creates indiscipline

2 % Jgg wastage of time

3. ¥ Clarifies the subject-matter
4. ® Develops inactivity

Question Number : 281 Question Id : 5038906017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % NS Ual BT §
2. % UG Bl §aidl g

3. ¢ Oy 9 &) WY FRAT R
4. % Afepgd fowmRid axdr g

Question Number : 282 Question Id : 5038906018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A modern educational institution stands on three pillars-Student, Teacher and Parent. Simultaneously Teachers are one of the most dependable
pillars. As a teacher of Political Science, what according to you, is the most important quality of an effective teacher:

Options :

1. ¥ A good motivator

2. #® Good rapport with the students
3. # A strict disciplinarian

4. ® Deep knowledge about the subject taught

Question Number : 282 Question Id : 5038906018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| ¢ U% A3 RSP

2. % B & IIY 3BT ddHA
3. % U qd HIRMHD
4. % T ITT fawg & IR H 181 I

Question Number : 283 Question Id : 5038906019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Genetic epistemology or 'developmental theory of knowledge' is a study of the origins (genesis) of knowledge (epistemology). The goal of

genetic epistemology is to link the validity of knowledge to the model of its construction — i.e. the context in which knowledge is gained affects
its perception, quality, and degree of retention. is called father of genetic epistemology?

Options :

1. # Dewey
2. % Bruner
3. ¥ Piaget
4. #% Vygotsky

Question Number : 283 Question Id : 5038906019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Sa

Question Number : 284 Question Id : 5038906020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Primary education is typically the first stage of formal education, coming after preschool and before s¢condary school. Primary education takes

place in primary school, the elementary school or first and middle school depending on the location. Primary education helps in --------------- ?
Options :

1. # Socialization of child

2. % understanding the course

3. % Democratization of child

4. % Destruction of childhood

Question Number : 284 Question Id : 5038906020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % S BT GHSNHR
2. % UToushH Bl JHIA
3. ¢ 9 B AlDhaATHR
4. % U HI {1

Question Number : 285 Question Id : 5038906021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to you, in which of the following stages the child looks self-centred?
Options :

1. ¥ Early childhood

2. % Infancy

3. # Adolescence

4. % Adulthood

Question Number : 285 Question Id : 5038906021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ YRIYS S
2. % QRETTRIT

3. % [hRIRTaRT
4. ® qGIHA

Question Number : 286 Question Id : 5038906022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If for a student “every time is learning time”, similarly for a teacher the same concept may be applicable during course of teaching-learning.
According to you,Teaching-Learning process fundamentally gets completed in ?

Options :

1. #® Society

2. % School

3. ¥ Home

4. ® Class Room

Question Number : 286 Question Id : 5038906022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gHNS
2. ¢ faermerg
3. % IR

4. % BTG

Question Number : 287 Question Id : 5038906023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0.25
If'a child has mental age of 13 years and ¢hronological age of 11 years than what will be the IQ of child?

Options :
1. % 132
2. % 85

3.9 118
4. % 120

Question Number : 287 Question Id : 5038906023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e forelt S 1 AARTD TG 13 Y 3R BIATIHHD 3 11 8 & <l o BT AT T gRTT?
Options :

1. % 132

2. % 85

3.¥ 118

4. % 120

Question Number : 288 Question Id : 5038906024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As a senior Academician and Admission Counsellor of a school which of the following subject combination you will going to suggest to student
of a ARTs scheme? (As per NEP 2020)

Options :

1. # English, History, Geography, Political Science, Physical Education
2. % English, History, Geography, Political Science, Biology

3. % English, History, Geography, Political Science, Computer Science

4. % Guide him to take his / her desirable subject combination

Question Number : 288 Question Id : 5038906024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. % N, fagT, Wa, Teifa g, dageR fagm

4. ¢ I AUAT a3 fAwg TaoH oF & o AnfeRia &3

Question Number : 289 Question Id : 5038906025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In psychology and cognitive science, a schema describes a pattern of thought or behaviour that organizes categories of information and the
relationships among them. It can also be described as a mental structure of preconceived ideas, a framework representing some aspect of the
world, or a system of organizing and perceiving new information.

i:rom the above reading what do mean by schema?

Options :

1. ¥ Organized packets of information stored in long-term memory
2. # Chunking mechanisms

3. # Learning techniques

4. % Defence mechanisms

Question Number : 289 Question Id : 5038906025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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AR FRAT ¢ | T YA eud [aaR] ot AFRIEG AeHT & U | Hi afofd fosar ot gl 8, gfHar & [t ugq &1 ufafAfia & aran
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Options :

1. ¢ SdapTiere Wi & TUEId Y@ & Iiidd Ude
2. % i1 A
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3. % IRgH &l dbrild

4% Je1d

Question Number : 290 Question Id : 5038906026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As a Teacher of Political Science if you noticed that a group of students are found to be harassing another student, then, What should be your
reaction?

Options :

1. ¥ Counsel the students individually
2. % Send intimation to their parents
3. # Apply Learning techniques

4. ® Give them a severe warning

Question Number : 290 Question Id : 5038906026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ BHE & AfGTd U T TATE &
2. % 3 HIal-fudr ol Ja-1 ol

3. % HRaH B ddb-id Ar]d

Question Number : 291 Question Id : 5038906027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As Teacher of Political Science in the senior secondary division, according to you, which of the following is not included as a product of
learning?

Options :
1. # Knowledge
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2. % Skill
3% Maturation

4. ¥ Physical structure

Question Number : 291 Question Id : 5038906027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 309

2. % DR

3. % RUehdl

4. ¢ ifq WA

Question Number : 292 Question Id : 5038906028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Intelligence quotient (IQ) Is the ratio of mental age to the chronological age multiplied by
Options :

1. % 10

2. % 30

3.9 100

4. % 150

Question Number : 292 Question Id : 5038906028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NG TR (1Q) AHFRID TG 3R BITIh D AT BT 3UTd § o I T[T fHar ST 8|
Options :

1. % 10

2. % 30
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3.4 100
4_#% 150

Question Number : 293 Question Id : 5038906029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Heredity, also called inheritance or biological inheritance, is the passing on of traits from parents to their offspring. What is the unit of Heredity?
Options :

1. ¥ Chromosome

2. ¥ Gene

3. ® Zygote

4. ® Fertilized cell

Question Number : 293 Question Id : 5038906029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TORA

2. ¢ S

3. % s

4. % foiferd oIfRrent

Question Number : 294 Question Id : 5038906030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As a teacher as well as a mentor you are supposed to be the best judge of the child’s emotion. According to you, which one of the following
persons is regarded as the first teacher of a child?

Options :
1. ¥ Nature
2. # Friends
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3. % Mother
4 % Father

Question Number : 294 Question Id : 5038906030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Topfd
2. % QI
3. |

4. % O

Question Number : 295 Question Id : 5038906031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Adolescence is the transitional phase of growth and development between childhood and adulthood. The World Health Organization (WHO)
defines an adolescent as any person between ages 10 and 19. Adolescents may experience ------------ .

Options :

1. #® feeling of satiation about life

2. ® anxiety and concern about themselves
3. ¥ feeling of self-actualization

4. ® feeling of fear about sins committed in childhood

Question Number : 295 Question Id : 5038906031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Sfig &b IR T e o1 YiaAT
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Question Number : 296 Question Id : 5038906032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Intelligence is the capacity to acquire and apply
Options :

1. #® Personality
2. ¥ Knowledge
3. # Aptitude
4. % Attitude

Question Number : 296 Question Id : 5038906032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfeH O R 3R AR B DI &l &
Options :

1. ® oHfeicd

2. ¥ I

3. % gy

4. % Uqgfd

Question Number : 297 Question Id : 5038906033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As a teacher as well as a mentor you are supposed to be the best judge of the child’s emotion. Some may be slow learners or others may be
advanced learners and Gifted Students. According to a teacher, the Gifted students are

Options :
1. ¥ independent in their judgments

2. % non-assertive of their needs
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3. # independent of teachers

A4 23 amtravort 1 natiira
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Question Number : 297 Question Id : 5038906033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS FR1e® & -1 Th WRED & TG T AU S BT UGS BT Ta 3w ool T oI1dl ¢ | $& 1 Feq a1dl 81 9hd © a1 3
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Options :

1. ¢ 39 (ufg o wadd

2. ¥ 3P &l b IR T TR

3. % gl QWA

4. % Ypia | sfqdat

Question Number : 298 Question Id : 5038906034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a student as well as for a normal human being “Every time is learning time”. He does not have any particular place for self development.
What, according to you, is the best place of social development for a 11 years old child?

Options :

1. # Family

2. % School

3. # Neighbourhood
4. ¥ Play ground

Question Number : 298 Question Id : 5038906034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 299 Question Id : 5038906035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to you as a teacher, which of the following is NOT a sign of 'being gifted' in terms of a student?
Options :

1. ¥ Poor relationship with peers

2. ® Curiosity

3. # Creativity

4. ¥ Interest in extra reading

Question Number : 299 Question Id : 5038906035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % formam
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4. % 3ffdRed g H 3

Question Number : 300 Question Id : 5038906036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From our childhood days we are becoming familiar with some proverbs like “Man are made of mistakes”, “Failure is the pillar of success” etc.
Similarly there is a statement “Individual learns from his own mistakes” which is based on the learning theory

Options :
1. ¥ Trial & Error

2. ® (lassical conditioning
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3. # Instrumental conditioning

xxxxxxxx

Question Number : 300 Question Id : 5038906036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TR0 SR FfC

2. % feRufaf¥d ufdde
3. % T YA

4. % M
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